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Question Number : 1 Question Id : 2752288487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Complete the following series.

UQMLE,?
Options :

1. % Z
2.%D

3. B

4. ¥ A



Question Number : 1 Question Id : 2752288487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafeiad sae &1 R &1
UQM,LE,?

Options :

l.* Z

2.% D

3. B

4. ¥ A

Question Number : 2 Question Id : 2752288488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Complete the following series.

_abc ab xa cxa ¢
Options :

1. # xcxbb

2. ¥ xxcbb

3. % cxcbb

4. % bexcb

Question Number : 2 Question Id : 2752288488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fAafeRad gae &1 R A |
_abc_ab xa cxa ¢

Options :

1. * xcxbb

2. % xxcbb



3. # cxcbb
4. % bexeb

Question Number : 3 Question Id : 2752288489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. # motorcycle
2. # scooter

3. % autorickshaw

4. % moped

Question Number : 3 Question Id : 2752288489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T fawed! & 9 & T [y dRid & 90 § 1 8TalD, Th [ded o1 9 &1 dve T8l o | 39 [Awed &1 9= &< off 3 ¥ 3T 5|
Options :

1. % HieHSfhd

2. ¥ WP

3. ¢ 3fTcIRef

4. % OUS

Question Number : 4 Question Id : 2752288490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. % Barley
2. % Millet



3. % Corn

4. ¥ Mustard

Question Number : 4 Question Id : 2752288490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T T famed & 9 & T (Y dRid 3 90 § | 8TalD, Th [deed o1 9 &1 dve T8l o | 39 [Awed &1 9= &< off 3 ¥ 3T 5|
Options :

1. % S

2. % 9o

3. ® Hddl

4.« I

Question Number : 5 Question Id : 2752288491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

GTA :IRC :: JDV :?
Options :

1. * KCW

2. % LCX

3. ¥ LBX

4. = KBX

Question Number : 5 Question Id : 2752288491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 [qored &1 999 B S el Ue I I UHR ¥ a&fd § o UHR ¥ gkl UE Ugd U & Hafdd g

GTA :IRC :: JIDV : ?
Options :



1. ®* KCW
2. % LCX
3. ¥ LBX
4. = KBX

Question Number : 6 Question Id : 2752288492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Son : Daughter :: Bull : ?
Options :

1. # Ass

2. # Buffalo

3. % Ox

4. ¥ Cow

Question Number : 6 Question Id : 2752288492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

39 oy &1 999 A I R Ue J I UHR ¥ Jafd § oy UeR ¥ k1 Ue Ugd Ue § Yafdd 7
ﬂﬁ:ﬁ::ﬂ'i_s':?

Options :
1. % T4l
2. % 49
3. % 9
4. ¥ 1Y

Question Number : 7 Question Id : 2752288493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



If 'INDIAN' is coded as '125132"' and "'TREAD' is coded as '68935' then the word ‘TREND’ will be coded as?
Options :

1. % 69852

2. ¥ 68925

3. # 89625

4. % 98256

Question Number : 7 Question Id : 2752288493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS INDIAN' ®1'125132' 3R 'TREAD' B '68935' & U B BIfSd (a1 TRT g, Al “TREND’ 65 1 Bl DTS [T ST
Options :

1. % 69852

2. ¥ 68925

3. % 89625

4. ¥ 98256

Question Number : 8 Question Id : 2752288494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'HEIGHT! is coded as '$*%#@&' and 'FIT' is coded as '!%&' then what is the code for 'FIGHT'?
Options :

1. % *&%#@

2. % %&*$#

3. % #3%&!

4. ¥ %H@&

Question Number : 8 Question Id : 2752288494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i 'HEIGHT' &1 '$*%#@& & 70 H Pifsd fohdl Ta1 8 3R 'FIT' &) 1%&' & &Y | Hifsd fbar 11§, 9l 'FIGHT' & ot IS 31 82

Options :



1. % *&%H@
2. % & *SH
3. % #5%&!

4. ¥ \%H@&

Question Number : 9 Question Id : 2752288495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fiza introduced Monu to her husband saying, "His brother's father is the only son of my paternal grandfather". How is Fiza related to Monu?
Options :

1. % Father's Sister

2. ¥ Sister

3. ¥ Brother

4. ® Mother

Question Number : 9 Question Id : 2752288495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ool 3 A &1 30 Ul & I8 Hed U URad SR fb, "I TS T TUaT TR aTaT &1 Saardl G g | ihel, 7 9 &Y Jaferd 52
Options :

1. ® fudr 1 g+

2. ¥ dgH

3. % UIg

4. % Ol

Question Number : 10 Question Id : 2752288496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four boys are sitting to on a bench. Shekhar is to the immediate left of Rishi. Manoj is to the right of Rishi. Vishal is between Rishi and Manoj.
Whose position will be second from the left?

Options :
1. # Shekhar



2. ¥ Rishi
3. % Manoj
4. # Vishal

Question Number : 10 Question Id : 2752288496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gﬂmﬁwﬁﬂw%% R, BN & Siep AU R 1 7T, B B 217 3R 21 fawmet, B iR 7ot & g § 1 910 ¥ TR I W DHH
?

Options :
]. % QTR
2. BN
3. % OIS
4. % fa=rma

Question Number : 11 Question Id : 2752288497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question two statements are given, followed by two conclusions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statement 1: Some hens are cows.
Statement 2: Some cows are horses.

Conclusion I: Some cows are hens.
Conclusion II: Some hens are horses.

Options :

1. ¥ Only conclusion I follows

2. % Only conclusion II follows

3. # Both conclusion I and II follow

4. % Neither conclusion I nor II follows

Question Number : 11 Question Id : 2752288497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

yy H, <l py feu e 8, s a1 < s 1 3R 11 fRT U €1 3iueht 39 Sy &bl I AR ©, Wl §1 I8 ITHIG: I1d 9 O fie Uddta
BNl 3! T AT ¢ o few e sl & 9 319 1, 3 1L 81 af fow 7TU = & ¥ SRR vl &

®YF 1: $3 IR T
FYT2: I TIAS |

ey 1 v T T gl

sy 11 $o gRfa 91e §

Options :

1. ¢ $ad 56y | STER BT ®

2. % Had (BN 11 SR Al §

3. % s 1 3R 11 G 3ERUI B §

4. % Fg s 1 3R T & Freen 11 3R el §

Question Number : 12 Question Id : 2752288498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question one statement is given, followed by two assumptions, I and II. You have to consider the statements to be true even if it seems to
be at variance from commonly known facts. You have to decide which of the given assumptions, if any, follows from the given statement.

Statement: Reeta's condition would improve after this operation.

Assumptions I: Reeta can be operated in this condition.
Assumptions II: Reeta cannot be operated in this condition.

Options :

1. ¥ Only assumption I is implicit
2. % Only assumption II is implicit
3. # Both I and II are implicit

4. # Neither I nor II is implicit

Question Number : 12 Question Id : 2752288498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Uy H T By fear mar g, e 91¢ S URuM 1 3R 11 &) 78 § | MUY 39 S Y I HIFAT §, HA 81 I8 JrHIa: I 9 J e
el 81 3MTTeh! a8 B 8 b &) 71 yRoma # A 1 Y, e 1< 81 o fiu Tu = & & 3ERu R B

DY Y R & 91 a1 Bt gleid § YR g1

YR 1: 39 fRUfS & Ter o1 TR fHar o goar 2|
RO 11: 39 fRUFT H a1 o1 TR 61 fbar 51 bl
Options :

1. ¢ ¥ad yron 1 Afka g

2. % Fad yRUT I AfRd &

3. % 1 3R 11 EF AR §

4. % FEH13IR TS 1R

Question Number : 13 Question Id : 2752288499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third number on the same basis as the second number is related to the first number.

76354 : 98576 :: 34216 : ?
Options :

1. % 47132

2. % 78692

3. ¥ 56438

4. % 59463

Question Number : 13 Question Id : 2752288499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
39 faed &7 T8 3 o1 dRR ST ¥ 34T TR  Hafdd § o R I gu! It ugdl S ¥ 9efed g |

76354 : 98576 :: 34216 : ?
Options :




1. # 47132
2. % 78692
3. ¥ 56438
4. % 59463

Question Number : 14 Question Id : 2752288500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the missing number.

3 4 2
2 3 1 2 |145| @ 1 ? [

5 3 5

Options :

1. % 43

2. % 49

3. % 59

4. ¥ 171

Question Number : 14 Question Id : 2752288500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ocd HEIT A FT|

3 4 2
2 N 1 2 |145| 6 1 ? 7
5 3 5

Options :



1. # 43
2. % 49
3. % 59
4.v 171

Question Number : 15 Question Id : 2752288501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The given Venn diagram shows boys who are married and employed. How many of the boys are employed but
unmarried?

Boys

A

Options :
1. %1
2.9 2
3. % 4
4. %5

Question Number : 15 Question Id : 2752288501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



feTm a1ar 37 HNW 39 TS Fr AT § A Farfeg H FEtg # o o= s § o

faanfea

Options :
1. %1
2.9 2
3. % 4
4, %5

Question Number : 16 Question Id : 2752288502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
How many maximum number of rectangles are there in the given question figure?

Options :
1. %8
2. % 17
3.9 18



4. % 20

Question Number : 16 Question Id : 2752288502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& 75 WA HHfa H g4t Hr 3fwman gEm faer 87

Options :
1. %8
2. % 17
3.¥ 18
4. % 20

Question Number : 17 Question Id : 2752288503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the question figure?

4 |
: | %

Options :




o
N
A
i

4.

Question Number : 17 Question Id : 2752288503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



PERf@d & ¥ Fi9 @ 3o M =T 3P H I T 87
Y| £
» | %

Options :

o
N
A




il

4.9

Question Number : 18 Question Id : 2752288504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following answer figure completes the series of the question figure?

Y|

Options :

LL%fA
\_\_l\?l_l_[

2.¥




L‘\o/’_l

3. %

L‘\'-LJ'J

Question Number : 18 Question Id : 2752288504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f=faf@a & & #la d@ 3o o 9o smpfa & g@er FF [ FEr 82

| ||,

Options :

U




\_\_L]\D/J_I_[
LLOJJ
L‘\'—U)—ﬂ

Question Number : 19 Question Id : 2752288505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is hidden/embedded.

Options :



2.¢

| | B || Be| |

Question Number : 19 Question Id : 2752288505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



& T IoR HPTaE # W, 37 HFT w994 Y owH 9o agla W aeaa 82

a

Options :

2.¥

|| Bo| |




Question Number : 20 Question Id : 2752288506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If a mirror is placed on the line AB, then which of the answer figures is the right image of the given figure?

A

Options :

1. ¢




A

Question Number : 20 Question Id : 2752288506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITE TF 90T & IWT AB T T AT g, af 3cak Hpia # & Hia @ & 75 Mpia $r T@r ofr 82

A

Options :

A

4. %

1. ¥




3. %
4, %

General Awareness
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Group Id : 275228343
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



General Awareness

Section Id : 275228500
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228589
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 2752288507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Shalimar Garden in Jammu and Kashmir was built by
Options :

1. ¥ Jahangir

2. % Babur

3. % Akbar

4. % Shah Jahan

Question Number : 21 Question Id : 2752288507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ST 3R HIAR H AR I SRT ST T T
Options :

1. ¥ SEHIR

2. % d[eR}

3. % JHchdX

4. % T8 SI6I



Question Number : 22 Question Id : 2752288508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nehru Trophy Boat Race, also called the Vallam Kali, is an annual boat race that takes place with traditional snake boats in
Options :

1. # Tamil Nadu

2. # Andhra Pradesh

3. ¥ Kerala

4. ¥ Karnataka

Question Number : 22 Question Id : 2752288508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8% I APl alS, R aeard Sretl o HgT I1dl 8, T a1 AIPl IS § off o URURe qUiehid A1 & MY gl |
Options :

1. % qiHe g

2. % 3fig U

3. ¥ B

4. % HAlcd

Question Number : 23 Question Id : 2752288509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As announced in the Budget 2021, the Madurai-Kollam corridor and Chittoor-Thatchur corridor will be constructed in

Options :

1. # Andhra Pradesh
2. # Karnataka

3. % Kerala

4. % Tamil Nadu

Question Number : 23 Question Id : 2752288509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

2021 & oI B B 718 IO & IR, AGRs-bieard AN iR RIR-a=R Anf &1 fmfor o o Se |
Options :

1. ® 3 UG

2. % PAlcH

3. % P

4. ¢ I g

Question Number : 24 Question Id : 2752288510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following banks has been named by Forbes in their list of World’s Best Banks 20217
Options :

1. # ICICI Bank

2. % HDFC Bank

3. % DBS Bank

4. ¥ CSB Bank

Question Number : 24 Question Id : 2752288510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wi gRT Ay & a98 §F 2021 &1 g & Fafeied 3 9 fod d& &1 A @ T g?
Options :

1. % S 3g A 3MmE. dep

2. % TI S UH. . dF

3. ¥ AT 9%

4. % QU dl dp

Question Number : 25 Question Id : 2752288511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Electrum is the alloy of gold and
Options :

1. # zinc

2. ¥ silver

3. % aluminium

4, % iron

Question Number : 25 Question Id : 2752288511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gAded 9 3R &1 g B
Options :

1. % ST

2. ¢ Tidt

3. % Togiafy

4. % gl

Question Number : 26 Question Id : 2752288512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following is a hormonal disease?
Options :

1. ¥ Goitre

2. % Malaria

3. ® Cholera

4. ¥ Rickets

Question Number : 26 Question Id : 2752288512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad & ¥ o 91 g™ T |2




Options :
1. ¢ Odl
2. % TRl

4*?{[@@“

Question Number : 27 Question Id : 2752288513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The are also known as Sahyadri hills.
Options :

1. ¥ Eastern Ghats

2. ¥ Western Ghats

3. % Aravalli

4. % Vindhya

Question Number : 27 Question Id : 2752288513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
»! TENfe UgIfSal & =u & +f}f ST S 3|
Options :
1. % gdfdre
2. ¢ UigH U1e
3. % SRTadl
4. % fdeg

Question Number : 28 Question Id : 2752288514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The longest river of which of the following continents is Volga?
Options :



1. ¥ Europe

2. % South America
3. % North America
4. # Asia

Question Number : 28 Question Id : 2752288514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafad # A fbg wergiy &1 Ye ot a1 i g2
Options :

1. ¥ WU

2. % SfRor 3mReT

3. % IR ARBI

4. % TREAT

Question Number : 29 Question Id : 2752288515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Indian Association was founded in 1876 by Surendranath Banerjee and Ananda Mohan Bose in
Options :

1. # Madras

2. % Poona

3. % Calcutta

4. % Bombay

Question Number : 29 Question Id : 2752288515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR THT DT RITTAT 1876 T GG T 3R TG Hlg- 9 A TP ot

Options :
1. % Halg



2. % U
3. ¢ Hadmdl
4. % gl

Question Number : 30 Question Id : 2752288516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
When was the first battle of Tarain fought?
Options :

1. % 1195

2.9 1191

3. % 1204

4. % 1185

Question Number : 30 Question Id : 2752288516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ARIRT PTUYH & hd oIST T YT?
Options :

1. # 1195

2.% 1191

3. % 1204

4, % 1185

Question Number : 31 Question Id : 2752288517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Who among the following Governor General was the first person to codify Laws in 1793?
Options :

1. % Lord Curzon

2. % Lord Dalhousie

3. % Lord Hastings



4. % Lord Cornwallis

Question Number : 31 Question Id : 2752288517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad TR T RA A A DH 1793 H ST &1 AledTag B aral Ugdl fad UT?
Options :

1. ® QA8 PHo

2. % WS Sorgol

3. % dls ofe™

4. Q1S DAl

Question Number : 32 Question Id : 2752288518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The headquarters of International Committee of the Red Cross is located in
Options :

1. ¥ Geneva

2. % New York

3. ® Paris

4. # Spain

Question Number : 32 Question Id : 2752288518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

S I B SIRIPIT A 1 gBrad ¥ R g
Options :

1. ¢ Torar

2. % i

3. % URY

4, % WA



Question Number : 33 Question Id : 2752288519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following books was NOT written by Munshi Premchand?
Options :

1. % Kaya Kalp

2. % Seva Sadan

3. ¥ Vardaan

4. ¥ Meghdoot

Question Number : 33 Question Id : 2752288519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad # 9 o O g 920 tvee gRT A8 forddt 18 ot
Options :

1. % dAThY

2. % YardeA

3. % q¢RaMH

4. HYgd

Question Number : 34 Question Id : 2752288520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which among the following states launched Sishu Seva Achoni for COVID-19 Orphans in June 2021?
Options :

1. ¥ Assam

2. # West Bengal

3. % Sikkim

4. # Tripura

Question Number : 34 Question Id : 2752288520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fAafeRad o I forg o9 A 5 2021 T Bifde-19 31T & T R HaT ThiH ol FE3MTd Di?
Options :

1. ¢ 39

2. % OiYH e

3. % f{fdpy

4. % BIguT

Question Number : 35 Question Id : 2752288521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

As per Indian Meteorological Department (IMD), 2021 received second highest rainfall in 121 years.
Options :

1. % April

2. % March

3. #¥ January

4. ¥ May

Question Number : 35 Question Id : 2752288521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Ad O faumT & SrgaR, 2021 § 121 I H T} T 31 o g3 |
Options :

1. % 30d

2. % A

3. % S

4.9 T3

Question Number : 36 Question Id : 2752288522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which among the following cities has been ranked as the most liveable cities in the world according to the Global Liveability Index 20217
Options :

1. # Osaka

2. % Auckland

3. % Adelaide

4. % Tokyo

Question Number : 36 Question Id : 2752288522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ay Siidaar Yamie 2021 F SR gl § J forg weR o gfar o Ia9 sifiie 367 g 98Rl & U o i faar mr g2
Options :

1. % 3T

2. ¢ JHlFITS

3. % TS

4. % CrRAY

Question Number : 37 Question Id : 2752288523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The feature of 'Prerogative Writs' in the Indian Constitution is borrowed from the Constitution of
Options :

1. ¥ United Kingdom

2. % United States of America

3. ® France

4. # South Africa

Question Number : 37 Question Id : 2752288523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Gfyym & RS Re ot fagear P IRYF I IYR A TS B



Options :

1. ¥ gAges fhren

2. % TG Iy SARPT
3. % By

4. % GI&IUT 3hiehT

Question Number : 38 Question Id : 2752288524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India's first general election for the Lok Sabha was conducted in
Options :

1. ¥ 1962-63

2. % 1958-59

3. ¥ 1951-52

4. % 1955-56

Question Number : 38 Question Id : 2752288524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

MBI & oI YR BT Ugall 39 g T Smaifore fobam T T
Options :

1. % 1962-63

2. % 1958-59

3.9 1951-52

4. % 1955-56

Question Number : 39 Question Id : 2752288525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BharatPe has announced that it has inked a year-long deal to become an official partner with International Cricket Council (ICC)
announced in June 2021.

Options :



1. # five
2. # two
3. # four

4. ¥ three

Question Number : 39 Question Id : 2752288525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRTY = S50 &t § 6 399 7 2021 & i SiaRigha fobdhe uRwe & I Sfeiie yiiiaR a4 & forg ay & e g R
BEIER fBU |

Options :

1. % U

2. % T

3. % dR

4. ¢ dH

Question Number : 40 Question Id : 2752288526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The Athletics Federation of India (AFT), announced that the Indian Grand Prix 4 will be held on June 21 at the National Institute of Sports in

Options :

1. % Assam

2. % Qujarat
3. % Punjab

4. % Rajasthan

Question Number : 40 Question Id : 2752288526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR Tyaifeey Herdd = 9ivon &1, fb R s e 4 &1 3o 21 9 &1 H AP Wt Y H Gl

Options :



1. % 3/
2. % TGRId
3. ¢ U9l
4, % IO
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Edit Attended Group? :
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Group Marks :
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Number of Questions to be attempted :

Section Marks :
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Question Shuffling Allowed :

Question Number : 41 Question Id : 2752288527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option

Arithmetic Ability

3
275228344
0

0

No

No

0
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No

Arithmetic Ability

275228501
1

Online
Mandatory
20
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20

Yes

1
275228590
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Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Using BODMAS rule, simplify the expression.

(302 +485)-360/2%x2+3
Options :
1. ¥ 430
2. % 3035
3. % 485
4, % 845

Question Number : 41 Question Id : 2752288527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BODMAS 9 &1 UIRT #Rd U, TSI Dl T He|

(302 +485)-360/2x2+3
Options :

1. ¥ 430

2. % 3035

3. % 485

4. % 845

Question Number : 42 Question Id : 2752288528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Evaluate the value (0.83) - (0.7"3) + 0.89 + (0.3/2) - (0.2"3).

(The symbol " means to the power of)
Options :

1. % 1414

2.9 1.141

3. % 1.161



4. % 1.09

Question Number : 42 Question Id : 2752288528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
(0.8"3) - (0.773) + 0.89 + (0.3”2) - (0.23) WWWﬁI

(g ~ &1 ord & & 7 9T
Options :
1. % 1414
2. ¢ 1.141
3. % 1161
4. % 1.09

Question Number : 43 Question Id : 2752288529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A bill is of 15500. A discount of 50% and 40% is applied to two different customers. What is the difference between the discounts?
Options :

1. # %6200

2. % %3100

3. % %9300

4. ¥ 21550

Question Number : 43 Question Id : 2752288529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T f9d 15500 BT R T SHTH-3HTT AEHI Bl 50% 3R 40% P HE &l oIl g | Fe | T 3faR g2
Options :

1. ® %6200

2. % %3100

3. % 39300




4. % 21550

Question Number : 44 Question Id : 2752288530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A cricketer scored 120 runs with 2 boundaries and 5 sixes. What percentage of runs did he score by running between the wickets?
Options :

1. ¥ 68.33%

2. % 31.67%

3. % 66.67%

4, % 25%

Question Number : 44 Question Id : 2752288530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TF fopdher A 2 bl 3R 5 Tab! &b IY 120 T T | I fadhel & oia Grear fhan ufawrd 39 99me
Options :

1. ¥ 68.33%

2. % 31.67%

3. % 66.67%

4. % 25%

Question Number : 45 Question Id : 2752288531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A student divided a number with 7/9 instead of 9/7. What is the percentage error?
Options :

1. ¥ 65.30%

2. % 39.50%

3. % 60%

4. % 50%



Question Number : 45 Question Id : 2752288531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP BT 7 T T BT 9/7 &b Foird 7/9 1 faHiora fovan | wfawra Ffe s g
Options :

1. ¥ 65.30%

2. % 39.50%

3. % 60%

4. % 50%

Question Number : 46 Question Id : 2752288532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The selling price of x articles is same as the cost price of 25 articles. The profit margin is 25%, how much is the value of x?
Options :

1. % 25

2. %30

3.¥°20

4. % 15

Question Number : 46 Question Id : 2752288532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

x a3l &1 AT Yoo 25 avgaft & ANTd Hed & T8 g | A THT 25% 8, x BT A b1 82
Options :

1. % 25

2. % 30

3.9 20

4. % 15

Question Number : 47 Question Id : 2752288533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

If the selling price gets 4 times, the profit becomes 8 times. What is the original profit percentage?
Options :

1. % 65%

2.9 75%

3. % 50%

4. % 40%

Question Number : 47 Question Id : 2752288533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe faehd Tt 4 AT Bich &, A A1Y 8 A1 BT 1Tl & | & oTH Wfa=id &1 82
Options :

1. ® 65%

2.9 75%

3. % 50%

4. % 40%

Question Number : 48 Question Id : 2752288534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A and B have % 25000 in total. If 1/5 of A's amount is equal to 3/5 of B's amount than how much B have?
Options :

1. ® X 18750

2. % 35000

3. % %6250

4. % 215000

Question Number : 48 Question Id : 2752288534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 3R B & U $d 25000 TUT & | (G A B AR BT 1/5, B B R & 3/5 & SRER &, A1 B &b UM {0 82



Options :

1. ® 318750
2. % 35000
3. ¥ 36250
4. % % 15000

Question Number : 49 Question Id : 2752288535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sum of money is distributed among W, X, Y, Z in the proportion of 3 : 4 : 8 : 6. If Y got X 500 less than four times of X, what is the share of
half of Z?

Options :

1. ¥ 1875
2. %2625

3. % 3375

4. % X150

Question Number : 49 Question Id : 2752288535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g,x,xz%a"t%BA 181 6P U | Ueb X1 fadid &1 ol 81 A Y B X & IR A I 2 500 Y Arat, O z & e 3wy o1 fgwam o
?

Options :

1. ¥ 1875
2. % %625

3. % X375

4. % X150

Question Number : 50 Question Id : 2752288536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A person borrows a sum of X 1000 rupees. What is the difference between the maturity amounts if he invests half at a compound interest of 10%



for 3 years and the other half at 10% simple interest for three years.
Options :

1. % 2155

2.%%155

3. % 21550

4, % %1.55

Question Number : 50 Question Id : 2752288536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Afad % 1000 $IT PI AR IUR AT ¢ | AfS T8 3 TS P AT 10% P Thgfeg ST UR 3Teft 1 3R i a¥ o o 102 ATEROT AT TR
3eft f 9w HRan ], o ufkuesar i & off " a1 3R 82

Options :
1. # X155
2.¥%155
3. % %1550
4, % % 1.55

Question Number : 51 Question Id : 2752288537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Simple interest rate for two sums of money is the same. The first sum of money is for a duration of 3 years and second is for a duration of 4
years. If the interest amount is same, what are the principle amounts, given that the principal amounts add up to X 1000?

Options :

1. % %250, 750

2. % %3000/7, X 4000/7
3. % %2000/6, X 4000/6
4. % 21500/6, 4500/6

Question Number : 51 Question Id : 2752288537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



&I Rt o T JTURUT SATS R A § | Tgeh IR0 3 T &1 31afdl & fou 8 3R gut 4 98 &1 3afd & fo § 1 afe s AT v &, <
AU AR &1 8, A o fob Gaed AR AT 2 1000 TP 82

Options :

1. % 3250,% 750

2. ¢ 23000/7, T 4000/7

3. % 32000/6, T 4000/6

4. % 31500/6, T 4500/6

Question Number : 52 Question Id : 2752288538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X crosses a 800 m long street in 10 minutes. What is the speed of X in Km per hour?
Options :

1. % 8.4

2. % 8

3. % 80

4. ¥ 48

Question Number : 52 Question Id : 2752288538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X T 800 m &t IS Bl 10 e H UR SHRAT || Km UG °e & X 1 i 1 82
Options :

1. % 84

2. % 8

3. % 80

4. ¥ 4.8

Question Number : 53 Question Id : 2752288539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A walks for 10 minutes at a speed 12 km/h. After that he walks for 10 more minutes at a speed of 18 km/h. What is the total distance covered by



A in meters?
Options :

1. # 500

2. % 5000
3.%5

4. % 50

Question Number : 53 Question Id : 2752288539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

§10ﬁ=|€$1%m12km/hﬁvﬁr@rqmd|%|w&> §1¢ 98 18 km/h B I 10 FFTE SR I 81 A GRTHICR & T B1 T8 Hd g1l [l
R

Options :

1. % 500

2. ¢ 5000

3.%5

4. % 50

Question Number : 54 Question Id : 2752288540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can lay a road in 15 days and B can do the same task in 5 days. How much time will A & B will take together to complete the task?
Options :

1. # 10 days

2. % 3.75 days

3. % 4.5 days

4. % 3 days

Question Number : 54 Question Id : 2752288540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A TS TSH B 15 ol H 971 Toha1 8 3TR B I S &1 5 fefi T R ThaT 81 A 3R B R w1 & 1 v § T v oo



Options :

1. % j0fea

2. ¢ 3751
3. % 45fq
4. % 3feq

Question Number : 55 Question Id : 2752288541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A can lay a road in 8 days and B can do the same task in 10 days. With help of C they can do it in 3 days. In how much time, C can complete the
job?

Options :

1. # 15 days

2. % 9.23 days
3. % 10 days

4. % 10.41 days

Question Number : 55 Question Id : 2752288541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ATH ISP I 8 e A ST gpar g SR B SH B & 10 A A PR BT 81 C B T A A 38 3 RAI AR Ibd §1 ¢, fba- g A
1Y TR B Fhdll &7

Options :

1. % 15feq

2.+ 923 e

3. % 10feq

4. % 104133

Question Number : 56 Question Id : 2752288542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
22 cubic centimetres of silver is used to create a wire. The radius of the wire is 1 cm. What is the length of the wire?



Options :

1.4 7cm
2. % 22 cm
3. % l4cm
4. % 10 cm

Question Number : 56 Question Id : 2752288542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR §9F & g 22 79 HelHiex Tict &1 SUaRT fa TR 81 IR &t 3T 1 om B 1 IR $I TS fba g2
Options :

1.¥ 7cm

2. % 22 cm

3. % 14 cm

4. % 10 cm

Question Number : 57 Question Id : 2752288543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the length of the longest pole that can be place under a room that is 8 meter long, 7 meter broad and 10 meter high.
Options :

1. ¥ 14.59 metres

2. % 10 metres

3. #¥ 12.8 metres

4. % 15.51 metres

Question Number : 57 Question Id : 2752288543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8 Hiex &9, 7 Hiex IS 3R 10 HIeR S & & I T o Yp+ a1 Ja T WY P a8 J7d P |
Options :

1. ¢ 14.59 TR




2. % 10 TR
3. % 12,8 HIcR
4. % 1551 TR

Question Number : 58 Question Id : 2752288544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The total marks obtained by a student in five subjects is 180. The division of marks is shown in the graph. The marks

obtained in History and Hindi is greater than the Science and English by

Degrees

Options :
1. % 25
2.¥ 175
3. % 35
4. % 70

Question Number : 58 Question Id : 2752288544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



T BT SR 9T Awdt 7 9red For 3% 180 g1 Hepr T e ;e # g wam g sfagrw R R
H 9eg 3F = v 3= @ T e g

feft

Options :
1. # 25
2.¥ 175
3. % 35
4. % 70

Question Number : 59 Question Id : 2752288545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The chart shows the count of workers under different age and gender group. What is the average of number of workers

under the highest and lowest age group?

m Male wFemale
20 + 18
& 18 - 16
= 16 -
-
12 4
g ] 2 9 8 9
# 81 6 6
34 ’ -
4 4
7 4
.u -
20 30 40 50 60
Age of Workers
Options :
1. ¥ 10,30
2. % 10,34.5
3. ¥ 26,15
4.4 13,75

Question Number : 59 Question Id : 2752288545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



e Rfees 3y 3R for 7 F T sffe $r T #r afiar g1 3=9an dR SR g e %
A9 HTHHT T G&IAT FT HET FT 872

= Qe = Higa

ilaiii i

suftrel @t omg

sftrent ot wam
onmBm @Bl ESES

Options :

1. % 10,30

2. %10,34.5
3. % 26,15

4.v 13,75

Question Number : 60 Question Id : 2752288546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In how many vears the consumption of paper bags exceeded the plastic bags and what is the highest difference between

the number of two type of bags?

+-Plastic Bags —=—Paper Bags

180 -
160 -
140 4 119 122 __=—
120 { 105 s —
100 - :'_'____ R\ ) 1. .
80 { - ! "
m .
a0
2“ -
0

Count of Bags

Options :

1. ®¥ 5 Years, 10
2. % 5years, 12
3. ¥ 6 years, 12
4. % 6 years, 10

Question Number : 60 Question Id : 2752288546 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



foraer It & Fere 7 360 Fr g confied & Afet ¥ 3o @ 12 3 @ v & It fr gE
F &1 3==dd a7 F4T 27

- wifeee @t At - s 31 At
180 -
160 - iy
140 - ' 133 =
120 4 105 a i H
lm ql . i q o
B0

1

Afergtalt dem

20

2000 2001 2002 2003 2004 2005 2006

Options :

1. % 59, 10
2. % 5399 12
3.9 67N, 12
4. % 6T, 10

General Hindi

Group Number : 4

Group Id : 275228345
Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No



General Hindi

Section Id : 275228502
Section Number : 1

Section type : Online
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Number of Questions : 16
Number of Questions to be attempted : 16

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 2752288547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafRed Uy |, IR [ddedl 7 9, 39 fdmed &1 9949 B3 ol foT U I8! IfY fawse &1 9fe &1 9l [ddwea 8l

W +dq
Options :
1. % [EG
2. ¢ Wdg
3. % Wgq
4. % WB3[q

Question Number : 61 Question Id : 2752288547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy |, IR fAdcul 7 9, 39 fawed &1 99 B3 ol feu U gt IfY fawse &1 OfY &1 9l faswea 8|

W+ 8¢
Options :



1. ® Weqg
2. v WG
3. % Wg

4. % Todq

Question Number : 62 Question Id : 2752288548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaied g H, IR fowddl 7 9, 39 fdded &1 9a7 &3 off AU U Xe & el I fawse &1 9el fawea g1l
dgAidR

Options :

1. ¢ T + 3R

2. % dg +HdMR

3. % dad + 3R

4. % dd+9R

Question Number : 62 Question Id : 2752288548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafead vy #, IR fadbedl | 9, 39 fddhed &1 90 o Sl 13U T Teg & Tt IY fdwse &1 |t fawed gl
dgidR

Options :

1. ¢ T + 3R

2. ® @ +AR

3. # dad + MW

4. % qq+9R

Question Number : 63 Question Id : 2752288549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeied uy &, IR feedl § 9, 39 fad ey &1 =g &3 off QU U Teg & forw et &g 99 & faue o1 fdpeu gl

S{UAT-URTIT
Options :

1. ® Ul hT IRl
2. % 3UAT Y W
3. ¢ JUAT 3R WRIAT
4. % HUATWRMI

Question Number : 63 Question Id : 2752288549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafed vy & IR foeddl 7 9, 39 fdhed &1 997 &3 o 2T 77U Xee & forT It g5 99 & f3ug o1 faweu 8l

SHUAT-URTT
Options :

1. % 3{UAT hT IRIAT
2. % 3(UATY WREAT
3. ¢ 3(UAT 3R TR
4, % 3UATURMT

Question Number : 64 Question Id : 2752288550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fafafed gy o, IR fawedl o 9, 39 fdaed &1 99 < off UG ¥ & e 1 Hal fabed gl
Options :

1. ¥ GHHd

2. % §ferg

3. % qdl

4. % Y




Question Number : 64 Question Id : 2752288550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FrafaRad vy 5, IR fawedl & 9, 39 fddhed &1 999 o Sl SU ¥ 9 Xeg &1 Agl [dded 51|
Options :

1. ¥ GHHd

2. % qfery

3. % dat

4. % TYHL

Question Number : 65 Question Id : 2752288551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad uy & IR foedl ° T, 39 ey &1 Tu &1 O T TN Wsg & TaiaT=! Weg o1 T8t [dhey Ag) 8

S{HMET
Options :

1. % ¢RI
2. % IUMY
3. % Yol
4. ¢ I

Question Number : 65 Question Id : 2752288551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy &, IR fowddl 7 9, 39 fdwey &1 99 &3 oY AT 77U Wee & vafgareh Tee &1 U8l fawed T8l 81

SHHIAT
Options :

1. % ¢RI
2. % JUMMY




3. % YTl
4. ¢ !

Question Number : 66 Question Id : 2752288552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFoiiad Uy & IR foeeal ° T, 39 ey &1 Tu &1 S faeH e o1 T4 33T g B
HHY

Options :

1. % faERo
2. % APy
3. dRY
4. % HEA

Question Number : 66 Question Id : 2752288552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofifad uy §, IR Reeal 7 9, 39 o &1 987 &% ot fadiH Ueg 7 Jad 3T Apeu 8|
HE

Options :

1. % faqeRu
2. % 3w
3. v aRy
4. % DA

Question Number : 67 Question Id : 2752288553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafafad vy A, IR fawedl § T, 39 T8l f[dwheu &1 T &3 Il a1adiell & ol U Xeg &1 fadwea gl




T R Y GER R &1 gl gl
Options :

1. % JhTaq

3Haaifln¥r
4. % gHBTH

Question Number : 67 Question Id : 2752288553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafafad vy #, IR fawedl § O, 39 T8l fdsweu o1 T &3 It a1aiell & ol U Weg &1 faded gl

TP QM Y G R I T g3
Options :

1. % qaprd-

2. ¢ JHIARd

3. % GHIYN

4. % gOPTAA

Question Number : 68 Question Id : 2752288554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafoiad Uy &, IR fowedl O T, 39 8! fawhed &1 994 &3 ol fou TN Ysg & el 31 &1 3fd faweu 8|
3Hg

Options :

1. ¢ 3G

2. % 3Y

3. % 3y

4. % dcdq



Question Number : 68 Question Id : 2752288554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefed gy d, IR fowedl § 9, 39 I8! fadhed &1 9 &3 ol iU T8 Wsg & Wt 3 &1 I faweu gl
3G

Options :

1. ¢ 3G

2. % 3y

3. % 38

4. % dcdq

Question Number : 69 Question Id : 2752288555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed Uy & aR fawedl § 9, 39 fadwed &1 989 &3 o gfed T ¥4 aral fawed g |
Options :

1. ® gfofa

2. ¥ ORY

3. % @fear

4, % Jard

Question Number : 69 Question Id : 2752288555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy ¥, aR fawedl § 9, 39 fawed &1 999 &% Sl Yfee 1 =0 aral faded g |

Options :




Question Number : 70 Question Id : 2752288556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , TR fawedl § T, 39 faswey &1 999 o3 Sl fAU 71U Tsg & dga9- U &1 Ja 33T fadhed g |

dld
Options :

1. # dId

2. % q[dl
3. ¢ d1d

4. % qrarsfl

Question Number : 70 Question Id : 2752288556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad vy o, TR fawel # 9, 39 fadhed &1 T 3 S foU 71U Wsg & dgaa- U &1 JaY 3reaT f[dhed g |

old
Options :

1. % dId

2. % qrdl
3. ¢ 9l

4. % qraredi

Question Number : 71 Question Id : 2752288557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy , TR fawedl § 9, 39 fawed &1 999 &3 ol 390 I3 T JaTH &1 Ted 33T f[dhed 7

Options :

1. % qd

2. % 3dd]




3. % gD
4. ¢ W

Question Number : 71 Question Id : 2752288557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad vy o, TR fawenl § 9, 39 fadhey &1 T B3 S ITH Yo T a4 &1 T 33T fadhed g

Options :

Question Number : 72 Question Id : 2752288558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fraffed ve o, IR fadwedl O 9, 39 [dwed &1 7= &1 S favm g gad a1 &1 98l fawea 31|
Options :

1. ¢ YHIE 3Ot Suf, Y, UfsT Sik I-Taiel 99 Il 907

2. % TG SO Tuf-yfi- ufast Sk 7 mafer ¥« @i 97

3. % gHIg 3ot Fufay, YH, UfasT Sk A, Faier 99 @ 967

4. % gHg o=t Fufy, Y, UfasT iR A Hafer 99 @i 9aT

Question Number : 72 Question Id : 2752288558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

faferiRad Uy &, IR fawedl O 4, 39 faded &1 99+ &< N [aR1 forg god a1 &1 @t [ddhed gl
Options :

1. ¢ TG 37Ot Iufx, YfH, TiasT SR AF-Aaier 99 Wl 997

2. % gHig Y- Fufa-yfH- ufasT $fik 79 Hafer 99 @l 97

3. % gHig S(U= Wufxy, Yffy, UiasT 3R O, Taier 9¢ Il 997




4. % YHIg 37Ot Aufx, YfH, UfasT SR A Tater 99 @i 98T

Question Number : 73 Question Id : 2752288559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & IR fawedl § 9, 39 fadmed &1 78 &1 off [T 7T YeTar &1 "t 31 arar fadwea 7

B9 BT 3T ST -

Options :

1. % G ST

2. ¢ TY &1 T UGB B BT
3. % HgAd HRAT

4. % Seadrol Bl

Question Number : 73 Question Id : 2752288559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafoiaa uy & TR fawe # ¥, 39 fadwen &1 7o &% off 3T U YeTar &1 Tt 3 arar fadweu 71

91 H1 W ¢TI -

Options :

1. % GRS

2. ¢ Y D1 A UgAHHR BRI Bl
3. % Tgad HAl

4, % STegdToll BT

Question Number : 74 Question Id : 2752288560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafed oy & IR fawedl § 9, 39 fadmed &1 7a- &1 off U 7T YTk &1 Tet 3rdf aran fawed g |
- TS U IS -




Options :

1. ¢ 3fdd Afrd 81

2. % TH T[0T H 3R 07 e
3. % Y gl

4. % TIH9d Q YIa1 gSMT

Question Number : 74 Question Id : 2752288560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaa Uy & IR fawe § 9, 39 fawen &1 7 3% off U U eTer o1 98t 3rdf aran fawea g |
- TS U IS -

Options :

1. ¢ 3dd dfeid g

2. % e U H 3R 107 fiye
3. % a8

4. % Qited 9 g1 gem

Question Number : 75 Question Id : 2752288561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy §, IR Reeal 7 9, 39 fdwcd &1 987 &% oY <t 715 Aldbifad &1 agt 3 arar s eu g1
T 3R I SR -

Options :

1. % TSI BT HRUT G uef
2. ¥ G DY, e dIdl YH
3. % 3fYH gRkyd HH AH

4. % 304 ®H Y HIAd TG]

Question Number : 75 Question Id : 2752288561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Fofifed uy §, IR Reeal 7 9, 39 fdmcd o1 987 &3 oY <t 715 Aldbifad &1 agt 3 arar i eu g1
TS 3R I SR -

Options :

1. % TSI BT BRI G uef
2. ¥ G DY, e dIdl YH
3. % 3fYH gRkyd HH AH

4. % 30 HTH Y A 3G

Sub-Section Number : 2
Sub-Section Id : 275228592
Question Shuffling Allowed : Yes

Question Id : 2752288562 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

9 fou T TR @ eFgEs Ug SR A AT T U ST SaR ¢

foraft TER H U e Ause o2 g3 AT Nt S AR e & HRdd o e 3, Wis A a1 IR ot 91 IR & foh e U udel 3 TRl R

IS B SR ¥ foT ol g & 9 @1 5 | &l IRY A Hien {3 3 g -1e gHR Iy 3 SR dl Ik} = & ag| wgrad et | a8

TEHR GHI AR} A e F d1d B | e = 38 A1 R 1| IR I SR U= 1Y 7MY, 3R 1 J Th 43 B! gaal! & -i1d o ol d1%

T GU FHeT 39 GSx TR TABX gH 3Hax ATHR aRarel @il | Gex g1 gaat o fr 39 IR HIs s9H df T His Siel oaR o 781 9d

Dl YT | IR I W T¢I 3R T HeH Tadb Y3 Y - AR U1 a1 IR freetd gu el “awmn fewrd gu @ gA Udel! 1 7&fl iR 9d

ﬁﬁﬁﬁﬁ@?ﬁi@%ﬁw@m@r ST “GId SoTsl eid, Fifeh H aId aoi TR g1 I IR SR ¥ Id Urdl 17 7 &1 §1d DR
3T |

Sub questions

Question Number : 76 Question Id : 2752288563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o IR ER & B Al Haal! o8 e
Options :

1. % @G Halt




2. % gWTs Hedl
3. % il Had
4. ¢ ¢ Hgdl

Question Number : 77 Question Id : 2752288564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2RI e B S & T

Options :

1. ® Hgl 98 SHRI SFE IR HAT T A IR G

2. % e Ug §HR 1Y IR B3 dl §H U s ST

3. ¥ YfQ g GHR 1Y 311 ST Al IR A | 31 gt
4 % TR AT R IRTN®

Question Number : 78 Question Id : 2752288565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

¢ & HAT 3 W IRI A ITb Iy &7 fHan
Options :

1. % I o fezm

2. ¢ ISP 3T 1Y T Y

3. % JY Hol ol at

4. % IY AR H G fean

Question Number : 79 Question Id : 2752288566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST ¥ DI 1 Hrad T JaHf 2 8K 87
Options :

1. ¢ dHyg

2. % BRAT

3. % HRAMI




4. % TR

Question Number : 80 Question Id : 2752288567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G B By Iugad e
Options :

1. % Gl SoTedl gidl

2. % U Gait It T-T

3. % IR BIHM

4. ¢ 7 HSll BT HRATHA

Question Id : 2752288562 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (76 to 80)

9 fou T TR EFgaS U¢ SR A AT TN URl ST SaR ¢

foraft TER 7 U e Ausd o2 g3 AT Nt S AR e & HRdd oW e 3, Wis A a1 IR ot 91 I=iA ¢ foh e T udel! 3 TRl R

IS 81 SR I 37 it Teraa1 & 9 X§1 51 GFl IR A Fia o afe I -1c §HR 1Y S 91 ol Ik} 3 § S gl et | a8

TAHR GHI GRI A e F d1d B | e = 38 F1 R a1 IR I SR U= 1Y 7MY, 3R 1 J Th Y3 B! gaal! & -i1d o ol d1%

3T §T H8T “3 YR IR TADBR gH 3Hax SR axalol Jrar | Gex ga-1 udalt Ut fh 3 R oI5 39H dl T g Siel oHaR i 781 9d

THAT 1| TR I W F6T R TP HeH Iahy YSMH I 1 R a1 <Y IR fereaid gu set g fewrd §u df gH vach 3 Twl o a

ﬁﬁwﬁ@ﬁ%ﬁw@mﬁqm I SoTefl g, Wﬁmaﬁwﬁmﬁw&mﬁaﬁwgl”ﬂzﬁww
3T |

Sub questions

Question Number : 76 Question Id : 2752288563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG o IUR ER | B Al Haal! o8 e
Options :

1. % qEvg Hedl

2. % GHls Hedl




3. % GIid Haal
4. ¢ FC Haal

Question Number : 77 Question Id : 2752288564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IRI A e & R H 1 =

Options :

1. % Hgl 98 SHRI g IR HAT T A IR G

2. % Yfe Ig §HR 1Y IR B dl §H Uh SITdH

3. ¢ i U8 BHR 1Y 37 ST ot IRT A H ST gl
4. % FE g AT R IRT?

Question Number : 78 Question Id : 2752288565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TC & HA1 B TR AR A I A1y 1 fobar
Options :

1. % 34 SH fean

2. ¥ I SYB 37U 1Y o T

3. % JUHSl gallal

4. % Y AR A b fean

Question Number : 79 Question Id : 2752288566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ST ¥ DI 1 Hrad b1 I T 8K 87
Options :

1. ¢ quyg

2. % BREAT

3. % HRAMI




4. % §R

Question Number : 80 Question Id : 2752288567 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Y 3G B Dl IUYa RMueh:
Options :

1. % QI SoT3ll gl

2. % T yda It 7=

3. % IRIBIHM

4, ¥ 7 HSdl BT HRATH

General English
Group Number : 5
Group Id : 275228346
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
General English
Section Id : 275228503
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 16
Number of Questions to be attempted : 16



Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228593
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 2752288568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Contamination may effect/ a person, a place, an animal,/ or an object such as clothing.
Options :

1. ¥ Contamination may effect

2. # aperson, a place, an animal,

3. % or an object such as clothing.

4. % No Error

Question Number : 81 Question Id : 2752288568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Contamination may effect/ a person, a place, an animal,/ or an object such as clothing.
Options :

1. ¥ Contamination may effect

2. % aperson, a place, an animal,

3. ®# or an object such as clothing.

4. ¥ No Error

Question Number : 82 Question Id : 2752288569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

In the standards segment of/ the CD, he pays tribute to four keyboardists/ who he greatly admires.
Options :

1. # In the standards segment of

2. % the CD, he pays tribute to four keyboardists

3. % who he greatly admires.

4. ¥ No Error

Question Number : 82 Question Id : 2752288569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

In the standards segment of/ the CD, he pays tribute to four keyboardists/ who he greatly admires.
Options :

1. # In the standards segment of

2. # the CD, he pays tribute to four keyboardists

3. % who he greatly admires.

4. % No Error

Question Number : 83 Question Id : 2752288570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Until we embrace this belief our culture has little hope (in surviving beyond it's present state of) unrestrained hostility.
Options :
1. # in surviving beyond it's present state off

2. % of surviving beyond it's present state of



3. ¢ of surviving beyond its present state of

4. # No correction required

Question Number : 83 Question Id : 2752288570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

Until we embrace this belief our culture has little hope (in surviving beyond it's present state of) unrestrained hostility.
Options :

1. #* in surviving beyond it's present state off

2. ® of surviving beyond it's present state of

3. % of surviving beyond its present state of

4. # No correction required

Question Number : 84 Question Id : 2752288571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(This year's winner of Mr. Olympia have also been) the target of the waggling fingers of keyboard warriors.
Options :

1. # This years' winner of Mr. Olympia have also been

2. % This year's winner of Mr. Olympia has also been

3. % This year's winner of Mr. Olympia are also being

4. # No correction required

Question Number : 84 Question Id : 2752288571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the



option 'no correction required' if the sentence is correct as given.

(This year's winner of Mr. Olympia have also been) the target of the waggling fingers of keyboard warriors.
Options :

1. ® This years' winner of Mr. Olympia have also been

2. % This year's winner of Mr. Olympia has also been

3. % This year's winner of Mr. Olympia are also being

4. ® No correction required

Question Number : 85 Question Id : 2752288572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

If you were lucky enough to buy that particular technology stock early on, then soon you will be receiving some rewards.
Options :

1. # insufficient

2. % inefficient

3. % munificent

4. ® proficient

Question Number : 85 Question Id : 2752288572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

If you were lucky enough to buy that particular technology stock early on, then soon you will be receiving some rewards.
Options :

1. ® insufficient

2. % inefficient

3. % munificent

4. ® proficient



Question Number : 86 Question Id : 2752288573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The economy is looking as our currency becomes less valuable.
Options :

1. # vicarious

2. ¥ precarious

3. % gregarious

4. % contrarious

Question Number : 86 Question Id : 2752288573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice.

The economy is looking as our currency becomes less valuable.
Options :

1. # vicarious

2. ¥ precarious

3. % gregarious

4. % contrarious

Question Number : 87 Question Id : 2752288574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

This stuff doesn't merely
P. rhymes but lashes out

Q. predictable, danceable nursery
R. placate the listener with



S. and lacerates the

eardrum relentlessly.
Options :

1. ®* RPSQ

2. ® RQSP

3. ¥ RQPS

4. % RSPQ

Question Number : 87 Question Id : 2752288574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

This stuff doesn't merely

P. rhymes but lashes out

Q. predictable, danceable nursery
R. placate the listener with

S. and lacerates the

eardrum relentlessly.
Options :

1. # RPSQ

2. % RQSP

3. ¥ RQPS

4. % RSPQ

Question Number : 88 Question Id : 2752288575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

placate



Options :

1. ¥ reconcile
2. # irritate
3. % provoke

4. % incite

Question Number : 88 Question Id : 2752288575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is SYNONYM (similar in meaning) to the word given below.

placate
Options :

1. ¥ reconcile
2. # irritate
3. % provoke

4. * incite

Question Number : 89 Question Id : 2752288576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is ANTONYM (opposite in meaning) to the word given below.

salubrious
Options :

1. # salutary

2. % unhealthy
3. * invigorating

4, % confront

Question Number : 89 Question Id : 2752288576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is ANTONYM (opposite in meaning) to the word given below.

salubrious
Options :

1. # salutary

2. ¥ unhealthy
3. % invigorating

4. % confront

Question Number : 90 Question Id : 2752288577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :

1. ¥ chicanery

2. % chicenery

3. # chicanary

4. # chicenary

Question Number : 90 Question Id : 2752288577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :

1. ¥ chicanery

2. % chicenery

3. # chicanary

4. ® chicenary

Question Number : 91 Question Id : 2752288578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :

1. ® coelesce

2. % coalesce

3. % coalese

4. % colesce

Question Number : 91 Question Id : 2752288578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the CORRECTLY spelt word.
Options :

1. # coelesce

2. ¥ coalesce

3. % coalese

4. % colesce

Question Number : 92 Question Id : 2752288579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Fool's Gold

Options :

1. ¥ Iron pyrites, a worthless rock that resembles real gold.

2. # To be enraged and show it.

3. % A swap meet. A place where people gather to buy and sell inexpensive goods.
4. ¥ Anunbelievable tale.

Question Number : 92 Question Id : 2752288579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the most appropriate meaning of the given idiom.

Fool's Gold

Options :

1. ¥ Iron pyrites, a worthless rock that resembles real gold.

2. # To be enraged and show it.

3. % A swap meet. A place where people gather to buy and sell inexpensive goods.
4. % An unbelievable tale.

Question Number : 93 Question Id : 2752288580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Against the clock

Options :

1. # In the order of; on the authority of
2. ¥ Rushed and short on time

3. # Without making any distinction

4. % Suddenly, without warning

Question Number : 93 Question Id : 2752288580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Against the clock

Options :

1. ® In the order of} on the authority of
2. ¥ Rushed and short on time

3. % Without making any distinction

4. ® Suddenly, without warning



Question Number : 94 Question Id : 2752288581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Opinions or beliefs of the majority
Options :

1. ¥ Vox populi

2. % Vociferous

3. ® Vicissitude

4. % Vicarious

Question Number : 94 Question Id : 2752288581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Opinions or beliefs of the majority
Options :

1. ¥ Vox populi

2. % Vociferous

3. ® Vicissitude

4. % Vicarious

Question Number : 95 Question Id : 2752288582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

In exactly the same words as were used originally
Options :

1. # Vague

2. % Verbatim



3. # Venial

4. % Veer

Question Number : 95 Question Id : 2752288582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

In exactly the same words as were used originally
Options :

1. # Vague

2. ¥ Verbatim

3. % Venial

4. % Veer

Sub-Section Number : 2
Sub-Section Id : 275228594
Question Shuffling Allowed : Yes

Question Id : 2752288583 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the following passage carefully and answer the question given below.

There is a place forty kilometres north-east of Portland, Victoria, which makes for an unusual visit. It is Lake Condah. Here are to be found
remains of aboriginal settlements: the circular stone bases of several hundred huts, rock-lined water channels, and stone tools chipped from rock
not normally found in the area. One of the attractions of Lake Condah is its fish and the most startling evidence of aboriginal technology and
engineering to be found there are the systems built to trap fish.

Water courses had been constructed by redirecting streams, building stone sides and even scraping out new channels. At strategic spots, they
piled rocks across the water courses to create weirs and build funnels to channel eels and fish into conical baskets. This is an eel-fishing
technique which has hardly changed to the present day. Beside some of the larger traps, there are the outlines of rectangular, stone-lined ponds,
probably to hold fish and keep them fresh.

On the bluffs overlooking the lake, stone circles are all that remain of ancient dwellings. Not all of the stones were quarried locally. The huts vary
in size, but all have gaps for doorways located on the lee side, away from the prevailing wind. One theory is that the stone walls were only waist
to shoulder high, with the top roofed by branches and possibly packed with mud.

The site presents a picture of a semi-settled people quite different from the stereotype of nomadic hunter-gatherers of the desert.



Sub questions

Question Number : 96 Question Id : 2752288584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a tourist attraction of Lake Condah?
Options :

1. # Aboriginal technology

2. # Fish trapping systems

3. ¥ Aboriginal remains

4. # Aboriginal engineering

Question Number : 97 Question Id : 2752288585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what makes a visit to Lake Condah 'unusual'?
Options :

1. % Stone tools chipped from non-native rocks.

2. # The rock-lined water channels.

3. % The circular stone bases of several hundred huts.

4. ¥ The remains of aboriginal settlements.

Question Number : 98 Question Id : 2752288586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fishing method has scarcely changed over the course of time.
Options :
1. # salmon
2.9 eel
3. # tuna
4. ® swordfish

Question Number : 99 Question Id : 2752288587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect?

Options :

1. # Lake Condah features peculiar systems built to trap fishes by the aboriginal settlers.
2. ¥ Lake Condah is situated in Portland, Victoria.

3. % The doorways of the huts of aboriginal settlements were sheltered from winds.

4. ® There is a form of fishing built first by the aboriginal settlers which has hardly changed to the present day.

Question Number : 100 Question Id : 2752288588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line "Not all of the stones were quarried locally" mean?
Options :

1. #® All stones were extracted from the same quarry.

2. % Not all stones were gathered from the region of Lake Condah

3. % Not all stones circles in the region of Lake Condah were to trap fishes.

4. ® Not all stones were stored from the region of Lake Condah

Question Id : 2752288583 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (96 to 100)

Read the following passage carefully and answer the question given below.

There is a place forty kilometres north-east of Portland, Victoria, which makes for an unusual visit. It is Lake Condah. Here are to be found
remains of aboriginal settlements: the circular stone bases of several hundred huts, rock-lined water channels, and stone tools chipped from rock
not normally found in the area. One of the attractions of Lake Condah is its fish and the most startling evidence of aboriginal technology and
engineering to be found there are the systems built to trap fish.

Water courses had been constructed by redirecting streams, building stone sides and even scraping out new channels. At strategic spots, they
piled rocks across the water courses to create weirs and build funnels to channel eels and fish into conical baskets. This is an eel-fishing
technique which has hardly changed to the present day. Beside some of the larger traps, there are the outlines of rectangular, stone-lined ponds,
probably to hold fish and keep them fresh.

On the bluffs overlooking the lake, stone circles are all that remain of ancient dwellings. Not all of the stones were quarried locally. The huts vary
in size, but all have gaps for doorways located on the lee side, away from the prevailing wind. One theory is that the stone walls were only waist



to shoulder high, with the top roofed by branches and possibly packed with mud.
The site presents a picture of a semi-settled people quite different from the stereotype of nomadic hunter-gatherers of the desert.

Sub questions

Question Number : 96 Question Id : 2752288584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is NOT a tourist attraction of Lake Condah?
Options :

1. # Aboriginal technology

2. # Fish trapping systems

3. ¥ Aboriginal remains

4. # Aboriginal engineering

Question Number : 97 Question Id : 2752288585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, what makes a visit to Lake Condah 'unusual'?
Options :

1. % Stone tools chipped from non-native rocks.

2. # The rock-lined water channels.

3. % The circular stone bases of several hundred huts.

4. ¥ The remains of aboriginal settlements.

Question Number : 98 Question Id : 2752288586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fishing method has scarcely changed over the course of time.
Options :
1. # salmon
2.9 eel
3. # tuna
4. ® swordfish



Question Number : 99 Question Id : 2752288587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect?

Options :

1. # Lake Condah features peculiar systems built to trap fishes by the aboriginal settlers.
2. % Lake Condah is situated in Portland, Victoria.

3. % The doorways of the huts of aboriginal settlements were sheltered from winds.

4. ® There is a form of fishing built first by the aboriginal settlers which has hardly changed to the present day.

Question Number : 100 Question Id : 2752288588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What does the line "Not all of the stones were quarried locally" mean?
Options :

1. #® All stones were extracted from the same quarry.

2. ¥ Not all stones were gathered from the region of Lake Condah

3. % Not all stones circles in the region of Lake Condah were to trap fishes.

4. ® Not all stones were stored from the region of Lake Condah
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Question Number : 101 Question Id : 2752288589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The command given to the computer to perform a particular task is known as
Options :

1. * data

2. % instruction

3. # information

4. * indicator

Question Number : 101 Question Id : 2752288589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foh it foRIY B B B B foTT SRR B AU TT TSR Bl & U T THET A8 |

Options :
1. % eI
2.9 GﬂEQI




3. % gl
4. % gD

Question Number : 102 Question Id : 2752288590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SMPS Stands for:

Options :

1. #® Simple Mode Power Switch

2. #® Simple Mode Power Supply

3. % Switch Mode Power Supply

4. # Single Mode power Supply

Question Number : 102 Question Id : 2752288590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SMPS T guf T 1 32

Options :

1. % f¥ud 9re ulR Rga

2. % YU A UlaR 9wils

3. ¢ &9 His UfR s

4. % R A UTaR IS

Question Number : 103 Question Id : 2752288591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is a Print Command?
Options :

1. % Ctrl + Shift + F1

2. % Ctrl + Shift + F2

3. ® Ctrl + Shift + F9



4. % Ctrl + Shift + F12

Question Number : 103 Question Id : 2752288591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFrafafea & 9 o= a1 file FHs 32
Options :

1. = Ctrl + Shift + F1

2. % Ctrl + Shift + F2

3. # Ctrl + Shift + F9

4. ¥ Ctrl + Shift + F12

Question Number : 104 Question Id : 2752288592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is used as an Extension for Program Files?
Options :

1.« dll

2. % txt

3. % xls

4. % com

Question Number : 104 Question Id : 2752288592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Frofafed & & fordet Tan U Wisd & ol TeIeRM & =4 H fasar STl g7
Options :

1.+ dil

2. % txt
3. % xls
4,

.com



Question Number : 105 Question Id : 2752288593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Lambert's law, the illumination of light is directly proportional to

Options :
1. % cos?0
2. % cosb
3. % cos20

4, % cos30

Question Number : 105 Question Id : 2752288593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A & g ), v Bt weife T e g 81 31
Options :

1. % cos20

2. % cosb

3. % cos20

4. % cos30

Question Number : 106 Question Id : 2752288594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Flux emitted by a lamp in all directions is 800 lumens, calculate its mscp.

Options :

1. % 300+m
2. % 500 +2n
3.9200 + ¢

4. % 400+



Question Number : 106 Question Id : 2752288594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

% o gRT gt femmatt & Icafold sifvare (oeia) 800 THA §, ST msep 1 UM H1 |
Options :

1. % 300+

2. % 500+ 2n

3.9200+ ¢

4. % 4007

Question Number : 107 Question Id : 2752288595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Co-efficient of adhesion is ratio of:

Options :

1. ¥ (tractive effort to slipwheels / adhesive effort)

2. % (adhesive effort / tractive effort)

3. # ( total weight / adhesive effort)

4. ® (effort during acceleration / effort during braking)

Question Number : 107 Question Id : 2752288595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3RS &1 T[UNieh R &7 U &:

Options :

1. ¢ ((uagiasmase yarg & fort faedf uam)
2. % (3o vy / fow s yam)

3. % (Ppd UR/MTESID TIN)

4. % (AU & SR YI/AfHT & SR TOm)

Question Number : 108 Question Id : 2752288596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A suburban train has a maximum speed of 65 kmph and average speed is 49.5 kmph, if the acceleration is 1.3 kmphs. Find retardation if distance
between stops is 3 km.

Options :

1. % 1.208 kmphs
2. % 2.1 kmphs
3. % 3.1 kmphs
4. % 4 kmphs

Question Number : 108 Question Id : 2752288596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP SUATRIT YAMIS! BT HTAHAH T 65 kmph & 3R 3 7T 49.5 kmph B, TG @ROT 1.3 kmph 8| TS 310 & &1 DI g 3 km g ol
Hear (Rerse ) Id &1

Options :

1. ¥ 1.208 kmphs

2. % 2.1 kmphs

3. # 3.1 kmphs

4. % 4 kmphs

Question Number : 109 Question Id : 2752288597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A capacitor has a Capacitance of 6 pF. Calculate the stored energy in it if a DC voltage of 30 V is across it.
Options :

1. % 29m]

2. % 1.7m]

3. 2.7m]

4. % 57ml

Question Number : 109 Question Id : 2752288597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

T G DT UTRAT 6 wF B | STH U ol 1 0T 6B IfS 30 V BT DC faHaiar 396 UR 82
Options :

1. % 29ml]

2.% 1.7ml]

3.9 2.7ml

4. % 57ml]

Question Number : 110 Question Id : 2752288598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Voltage and current in an a.c circuit are given as v = 100 sin(10t), i = 6 sin(50t). Find the RMS Power of the Circuit.
Options :

1. % 20W

2. % 3W

3. % 10 W

4. % 300 W

Question Number : 110 Question Id : 2752288598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

a.c TROY H fAUTAR 3R HLE Bl v = 100 sin(10t), i = 6 sin(50t) b =Y H f&T1 71 § | TRUY BT RMS TiaR F1d B |
Options :

1. % 20W

2.% 3W

3. 10 W

4. % 300 W

Question Number : 111 Question Id : 2752288599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A coil is resonance at 10 Hz with a capacitor, if the Quality factor and inductance of the coil are 10 and 4 H. Find the Resistance of the coil.



Options :
lI.* 6mn
2.¥8n
3.%4n
4. % 2n

Question Number : 111 Question Id : 2752288599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP YRS & 1Y Faell 10 Hz TR TG H 8, Al HSait BT UK HRE R RSB 10 3R 4 H g | HSait BT UTeRIe J1d B
Options :

l.*6n

2.9 81

3.%4n

4. % 2nm

Question Number : 112 Question Id : 2752288600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The reverse resistance of the diode can be expressed as:
Options :

1. ® Rf=(AVr/Alr)

2. ¥ R.=(AV,/ Al)

3. % Rf=(Alr/ AVr)

4. = Rf=(Alr/ AVs)

Question Number : 112 Question Id : 2752288600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SIS & faudia uferty (Ra<d IR &) {5 UeR sad o o Tehdi 82

Options :



1. # Rf=(AVr/Alr)
2. ¥ R, = (AV,/ AL)
3. % Rf=(Alr/ AVr)
4, % Rf=(Alr/ AVs)

Question Number : 113 Question Id : 2752288601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
If the Junction temperature increases, Avalanche Breakdown voltage

Options :

1. ¥ increases
2. # decreases
3. # constant

4. % zero

Question Number : 113 Question Id : 2752288601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e Sa=M BT aTgHH ST §, df Y HoH faHaiar
Options :

1. Sedle

2. % HHGIATE

3. % PR I|AT B

4. % LI GIATG

Question Number : 114 Question Id : 2752288602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In Armature resistance speed control method, both variable resistance and armature resistance are connected in

Options :
1. # star



2. # parallel
3. % series
4, % delta

Question Number : 114 Question Id : 2752288602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R wifeRTy i freior fafd &, =R ufoRiy ok oo UfeRty Gl IS eI
Options :

1. # R

2. % AR

3. ¢ gt

4. % Seel

Question Number : 115 Question Id : 2752288603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Hopkinson's test of D.C. Machines is conducted at

Options :

1. # No Load

2. ¥ Full Load
3. # Half Load
4. % 1/4 Load

Question Number : 115 Question Id : 2752288603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

D.C. AR &1 glafdsa uiamn [CRUREIGIE
Options :

1. % foT fpdt YR &

2.V QUi YR &



3, % IYR T
4. % 1/4 4R H

Question Number : 116 Question Id : 2752288604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Short-circuit ratio of a synchronous machine is inversely proportional to
Options :

1. ¥ Synchronous reactance
2. # Synchronous impedance
3. # Synchronous resistance

4. # Synchronous admittance

Question Number : 116 Question Id : 2752288604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Jegoiere (Ria) 7=iH &1 9y uRuy Sramd Y GHHU! BiaT 5|
Options :

1. ¢ Jeadiiad Ufafsar (Rispg fRamadq)

2. % Jegaiieidh faamT (Rish9 sHiie—)

3. % Jeudiaid uferiY (Ripg YoReT)

4. % qegepiicid va=gdl (Risg tefiic—)

Question Number : 117 Question Id : 2752288605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The ability of the motor to remain in Synchronism under rated load condition is Known as
Options :

1. # Starting Torque
2. # Running Torque
3. # Pull-in-Torque



4. ¥ Pull-out-Torque

Question Number : 117 Question Id : 2752288605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IS TS Pt [T o dgd Alex B RipIfH & 381 DI &1 ol & U T THE A8 |
Options :

1. # Yddd gargul

2. % T Samgol

3. % 3TN Fareul

4. « Tamojur gargul

Question Number : 118 Question Id : 2752288606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

To enable hardware and software interrupts to be acknowledged which of the following instruction is used?
Options :

1. ¥ ENI

2. % DISI

3. % GTS

4. % MLS

Question Number : 118 Question Id : 2752288606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SISATR 3R UGeaTR FerP B WIHR B H ¥ s & forg Fufeiad & 9 ooy fHewr o1 Iugi foar sirar g2
Options :

1. ¥ ENI

2. % DISI

3. % GTS

4. % MLS




Question Number : 119 Question Id : 2752288607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following connections is used to link test and action graphic elements in parallel?
Options :

1. # direct

2. # indirect

3. % horizontal

4. ¥ vertical

Question Number : 119 Question Id : 2752288607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FAfRad o ¥ S A1 HaRM TRIEUT 3R TaRM Ulfths Tferde &I THMIR T Siie & forg IudnT a1 SiraT 82
Options :

1. % Jg&

2. % AU

3. % &fcrs

4. Gl

Question Number : 120 Question Id : 2752288608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SCADA Stands for:

Options :

1. # Simple Control And Data Acquisition

2. % Supervisory Control And Data Acquisition

3. % Supervisory Command And Data Acquisition
4. # Source Control And Data Acquisition

Question Number : 120 Question Id : 2752288608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

SCADA &1 quf g1 §:

Options :

1. % RiUd deld TS sel U ISR

2. ¢ YURATSSR] el TS ST TSR
3. % JRAZSR] HHlS U Sl UBhIol IR
4. % Y Dl TS S TS ITH
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Question Number : 121 Question Id : 2752288609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following produces delay in PLC?
Options :

1. ¥ Timer

2. % Counters

3. % Registers

4. ¥ Memory

Question Number : 121 Question Id : 2752288609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e § 4 &9 PLC T &3 ST a1 82
Options :

1. ¥ CIRHR

2. % PR

3. % SRR

4. % AR

Question Number : 122 Question Id : 2752288610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Increments every time the input changes from false to true?
Options :

1. ¥ RAM

2. # Timer

3. % Counter

4, ¥ ROM



Question Number : 122 Question Id : 2752288610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafofaa 7 4 o9 I 3 &R TR |t § 519 39 3 @ wed § uRafdd gar g2
Options :

1. %39

2. % CIRWR

3. ¥ BIIR

4. %7

Question Number : 123 Question Id : 2752288611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the lengths of the sides of a triangle are 6 cm, 8 cm and 10 cm respectively. Find area of triangle in sq cm.
Options :

1. % 45

2. % 54

3.¥ 24

4. % 74

Question Number : 123 Question Id : 2752288611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

u%wﬁﬂﬁﬁﬁm&hﬁaaﬁm 6 cm, 8 cm 3R 10 cm B | sq cmﬁﬁﬂﬁﬁmmaﬁl
Options :

1. % 45

2. % 54

3.9 24

4. % 74



Question Number : 124 Question Id : 2752288612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the value of sin 75°.

Options :

LY [(\3+1)/2V2]

2. % 8 /43

3. % \2+1

4. % \5+1

Question Number : 124 Question Id : 2752288612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
sin 75° &1 A J1d B |

Options :

1LY [(\3+1)/2V2]

2. % 8 /43

3. % \2+1

4. % \5+1

Question Number : 125 Question Id : 2752288613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The product of a Matrix and its inverse Matrix is:
Options :

1. % A Matrix

2. % 2A Matrix

3. #* Null Matrix

4. ¥ Identity Matrix

Question Number : 125 Question Id : 2752288613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TH TR 3R STH b g HI UG o
Options :

1. % A g

2. % 2A 3HYp

3. % AT ATYg

4. ¥ GIGH 3G

Question Number : 126 Question Id : 2752288614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A machine gun fires 240 bullets per minute, mass of each bullet is 10 grams. If the power of the gun is 7.2 KW, then find the velocity of the
bullet.

Options :

1. % 400 ms’!
2. % 300 ms™!
3. % 700 ms™!
4. ¢ 600 ms™!

Question Number : 126 Question Id : 2752288614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T TR ufd e 240 Mt Iardt 8, T el &1 Sod@ = 10 W g1 fe s &1 Afdd 7.2 KW g, af TIiel &1 a7 1 $e |
Options :

1. % 400 ms!

2. % 300 ms™!

3. % 700 ms™!

4. ¥ 600 ms’!

Question Number : 127 Question Id : 2752288615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Which of the following have same dimensional formulae?
Options :

1. ¥ Torque, Energy

2. # Power, Work

3. # Impulse, Force

4. % Velocity, Frequency

Question Number : 127 Question Id : 2752288615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frafaRad o 9 frds gam faar @ 82
Options :

1. ¢ SaTgui, Holl

2. % OlaR, BT

3. % 3{1AT, 9

4. % 91| 3Mgfy

Question Number : 128 Question Id : 2752288616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the mass and velocity of the body is doubled, how does the kinetic energy change?
Options :

1. # increases by 2 times

2. # increases by 4 times

3. % increases by 8 times

4. % increases by 16 times

Question Number : 128 Question Id : 2752288616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g i &1 ged 3R AT ST R far oe, af TifasT Soif B sIgad 82




Options :

1. % 2 I §¢ ST 8
2. % 4TI §¢ AT §
3. ¢ 8T S ST &
4. % 16T §¢ ST §

Question Number : 129 Question Id : 2752288617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Specific Gravity of lead is:

Options :

1. % 10.22

2. % 20.22

3.9 11.35

4. % 40.35

Question Number : 129 Question Id : 2752288617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
i &1 fafry ey §:

Options :

1. % 10.22

2. %.20.22

3.9 11.35

4, % 40.35

Question Number : 130 Question Id : 2752288618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A cell is discharged at 4 A for 12 hours and to regain it a charging current of 3 A for 20 hours is required. Calculate ampere hour efficiency.
Options :



1. ® 60%
2. % 40%
3. % 50%
4. v 80%

Question Number : 130 Question Id : 2752288618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP A Bl 4 A W 12 °¢ & oy fETar] fan Jdm € $iR S8 T: T a3 & fo1T 20 ©¢ & AU 3 A Bt 1ol e &1 Sa=gewdl gl g |
TRRR ¢ &1 C&fdT B UM < |

Options :

1. % 60%

2. % 40%

3. % 50%

4. 80%

Question Number : 131 Question Id : 2752288619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Nichrome is an alloy of:

Options :

1. # Copper, Chromium, Aluminium

2. % Gold, Silver,Platinum

3. ¥ Nickel, Chromium, Manganese

4. * Tron, Brass, Silver

Question Number : 131 Question Id : 2752288619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ATgeh A foraeT frsTg 82
Options :

1. % qidT, iy, Ty




2. % T, Fiet, wifedw
3. ¢ foa, wiftas, J
4. % gr, iidd, gic

Question Number : 132 Question Id : 2752288620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In P-type semiconductor, Fermi level shifts towards

Options :

1. ¥ Valance band

2. % Conduction band
3. # P-region

4. # N-region

Question Number : 132 Question Id : 2752288620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P-USR 3efareie & wHfddd P 3R WM gidT g
Options :

1. ¥ o 68

2. % HSRH S

3. % poH

4. % NoH

Question Number : 133 Question Id : 2752288621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find stress induced in a circular bar of diameter 20 mm under a load of 10 KN.
Options :

1. % 30.8 N/mm?

2. ¥ 31.8 N/mm?



3. % 33.8 N/mm?
4. % 41.8 N/mm?

Question Number : 133 Question Id : 2752288621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

10 KN & HR & d8d 20 mm I & MaeR R # URd ufdad I1d H1
Options :

1. % 30.8 N/mm?2

2. ¥ 31.8 N/mm?

3. % 33.8 N/mm?

4. % 41.8 N/mm?

Question Number : 134 Question Id : 2752288622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Maximum Compression ration of SI Engine is limited to

Options :
1.¥10:1
2. % 12:7
3.%5:1
4, % 4:5

Question Number : 134 Question Id : 2752288622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SI 39 BT 3ffmar Tiied IXE do Dl
Options :

1.9 10:1

2. % 12:7

3.% 511




4. % 4:5

Question Number : 135 Question Id : 2752288623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pressure range of fire tube boiler is

Options :

1. # 23 bar to 35 bar
2. % 15 bar to 25 bar
3. % 10 bar to 18 bar
4. * 11 bar to 35 bar

Question Number : 135 Question Id : 2752288623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IR TJd S1GeR B ad YT gl
Options :

1. % 239R Y 356R

2. ¥ 15dR Y25 dR

3. % (0GR Y 18 TR

4. % 11 R Y 359R

Question Number : 136 Question Id : 2752288624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following is the General solution of (D?-2D + l)yy =07
Options :

i X 4
| % }—cle Cz}xe



3 % YT I'31'3'{‘2}:} +ey™

4. % Y7 cre* CEEQK}

Question Number : 136 Question Id : 2752288624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=faf@a # T FT ar (D2 - 2D + 1)y = 0 F THET TAIT 22
Options :

| ¥ = cge* + coxe

(cq + cox)e*
3 % \:’.r = C-]E{Ex) =+ sz

cieX + czeizx}

Question Number : 137 Question Id : 2752288625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the laplace transform of cos? 2t.
Options :

| % [(s+8)/(s*+16)]



2. v (2 +8)/ {s(s*+ 16)}]

3 % [(S+8)/(s*+ 16)]

4 % [(578)/ {s(sT16)}]

Question Number : 137 Question Id : 2752288625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

cos? 2t T FCATE FI=aI0T AT &L
Options :

% [(s + 8) /(% + 18)]
, v l(s? + 8) / {s(s? + 18)}]
3w (82 + 8)/ (s + 16)]

4w [(5+8) / {s(s+16)}]

Question Number : 138 Question Id : 2752288626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find inverse laplace transform of [5/(s + 3)].
Options :

1. % 5¢030

2. % 5¢06



3. % 5¢(60
4. ¢ 5¢(-39

Question Number : 138 Question Id : 2752288626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

[5/(s + 3)] T Hch H <llkedTd =UTARUT T PR
Options :

1. ® 5¢69

2. % 5¢09
3. % 5¢(00
4. ¢ 5¢(3Y

Question Number : 139 Question Id : 2752288627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which region of the transistor is moderately doped?
Options :

1. # Emitter

2. ¥ Collector

3. % Base

4. % Base and Collector

Question Number : 139 Question Id : 2752288627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

CifoTeR BT B U1 & HegH =0 ¥ HTfed [T SITal g2
Options :

1. % IID

2. ¢ TURH

3. % 3YUR




4. ® 3MYR 3R TIEH

Question Number : 140 Question Id : 2752288628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Reverse recovery time of general purpose Diode is:
Options :

1. ® 15uS

2. % 45uS

3.¥25uS

4. % 50 uS

Question Number : 140 Question Id : 2752288628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT YIS TS T Uy O Ife &7et &
Options :
1. ® 15puS
2. % 45 S
3.¥25uS
4. % 50 uS
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Question Number : 141 Question Id : 2752288629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sinusoidal voltage of Amplitude 10 V and frequency 50 Hz is applied to Half wave Rectifier. The Load resistor is 500 Q. Compute RMS value
of Load current.

Options :

1. ® 50 mA
2. % 75 mA
3. % 10 mA
4. % 20 mA

Question Number : 141 Question Id : 2752288629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31ef T BT TR A 10 v 3R 3MGRT 50 Hz 1 501 TR fAHATaR T ST § | A1 WRI® 500 Q 81 TS B & RMS HH B
U] R |

Options :




1. ¥ 50 mA
2. % 75 mA
3.% 10 mA
4. % 20 mA

Question Number : 142 Question Id : 2752288630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A sinusoidal voltage of 100/72, 40 Hz is applied to Full wave Rectifier. Compute the PIV of the diode.
Options :

1. % 100V

2.9 200V

3.% 20V

4, % 50V

Question Number : 142 Question Id : 2752288630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

0T a1 SR TR 100/42, 40 Hz T ST AR faHaiaR T STl & | SIS & PIV &1 0T & |
Options :

1. % 100V

2.% 200V

3.%20V

4. % 50V

Question Number : 143 Question Id : 2752288631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The resistance of a two element series circuit with an instantaneous current of I = 3sin(50t + 450) that has taken real power of 81 W at a power
factor of 0.8 lag is

Options :
1. # 18 ohm



2. % 25 ohm
3. # 64 ohm
4. % 2 ohm

Question Number : 143 Question Id : 2752288631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I = 3sin(50t + 450) 1 dATpIIOID YRT & 1Y &l Tferde Juft aRuy &1 ufeRiey, S5 0.8 1T P UTdR e TR 81 W &1 IRdfde UiaR @ g,
ag gl

Options :

1. % 18307

2. 25 3

3. % 64 39

4. % 237

Question Number : 144 Question Id : 2752288632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Compute the inductance of a coil in which a current increases linearly from 0.2 A in 0.1 sec, producing voltage of 10 V.
Options :

1. % 5uH

2. % 5mH

3. % 50H

4. ¥ 5H

Question Number : 144 Question Id : 2752288632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP $8l & IRbd DI AT B3, FoRiH 0.1 Fbs 7 0.2 A T AP T T YRT Tl 8, 10 V BT faHaiaR ITd dal g
Options :

1. = 5uH




2. % 5mH
3. % 50H
4. % 5H

Question Number : 145 Question Id : 2752288633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The linear distance moved by a Point in one revolution is called as

Options :
1. # radius
2. ® circle
3. ® square
4. ¥ pitch

Question Number : 145 Question Id : 2752288633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T foig GR1 IS T H 0 &1 T8 9D g3l &l HEI Il g

Options :
1. ® &
2. % gd
3. % qif
4. ¢ g

Question Number : 146 Question Id : 2752288634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The visual rays of any object perpendicular to plane forms a view on Plane of Projection is called as

Options :
1. ¥ Orthographic Projection
2. * Oblique Projection



3. % Pictoral Projection

4. ® Isometric Projection

Question Number : 146 Question Id : 2752288634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THAS & ciaad fpdl 9% BT 2= {3l GAY0 da IR 2<g 11 §, 32 HEI AT g |
Options :

1. ¢ TEH U HeT (SdUfthe UoaRm)

2. % % yay (Siifedte HioiaRH)

3. % g gy (UaeiRad dioieRH)

4. % JHGAD UAT (SMZEAD o)

Question Number : 147 Question Id : 2752288635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The line on which rolling circle rolls is called as

Options :
1. # tangent
2. % normal
3. % director
4. % helix

Question Number : 147 Question Id : 2752288635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
IE 3T o R gHdT §31 91 el §, 39 FHEI S5

Options :

1. % =R
2. % IYRUT
3. ¢ (gD



4. % pHaferl

Question Number : 148 Question Id : 2752288636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 2000/50 V, 1-¢ Transformer takes 0.4 A on the HV side on no-load at a power factor of 0.3 lag. Calculate the Ironloss.
Options :

1. % 320 W

2.9 240 W

3. % 600 W

4. % 1000 W

Question Number : 148 Question Id : 2752288636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH 2000/50 V, 1-¢ TABTR 0.3 T P UTaR Hhaer R [T & HV TIZS W 0.4A Tdl g1 e &fd &1 01 3 |
Options :

1. % 320 W

2.9 240 W

3. % 600 W

4. % 1000 W

Question Number : 149 Question Id : 2752288637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type rotor used in high speed applications?
Options :

1. # Salient type rotor

2. % Slip ring rotor

3. % Squirrel cage rotor

4. ¥ Non-Salient type rotor



Question Number : 149 Question Id : 2752288637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I T ST & fh g YR & ex BT ITART fordm STt 82
Options :

1. % HfeTde T8y AR

2. % 0 AT e”

3. % TWHaR ool AR

4. ¢ F-9feTUe ergU AeR

Question Number : 150 Question Id : 2752288638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 200V, 10 KVA, single phase alternator produces armature current of 20 A on short circuit. Determine synchronous impedance.
Options :

1. %5Q

2.9 10Q

3.%8Q

4. % 20Q

Question Number : 150 Question Id : 2752288638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

200 V, 10 KVA, RITTA BeT 3feeex @Y URUY TR 20 A BT AR YRT ITF Hdl ¢ | eadbiiad iaardT (Rispy smite—) fAuiia &1
Options :

1.%¥5Q

2.¥10Q

3.%¥8Q

4. % 20Q

Question Number : 151 Question Id : 2752288639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following wattmeter is used only in AC circuits?
Options :

1. # Dynamo meter

2. ¥ Induction wattmeter

3. % Electrostatic meters

4. % Rectifier meter

Question Number : 151 Question Id : 2752288639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofaied # 319 91 alcHieR had AC TRy o TRINT faaT ST 82
Options :

1. % Qe HIeR

2. ¢ IRUTdIcHIR

3. % faqgd Wide Hic (Faiagrefes Hiew)

4. % fQFBRI Hicx

Question Number : 152 Question Id : 2752288640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The scale of the dynamometer wattmeter is

Options :

1. # hyperbola

2. # non - uniform
3. ® parabola

4. ¥ uniform

Question Number : 152 Question Id : 2752288640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



STEHHICR dicHe’ B Ao gl
Options :

1. # JfdqRacg

2. % AN

3. % RJAT

4.« UM

Question Number : 153 Question Id : 2752288641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 10 V Moving Iron voltmeter has a resistance of 3 2 and an inductance of (2/7)H what will be the its impedance of the Instrument if frequency
is SHz.

Options :
1. ¢ 409
2. % 209
3. % 709
4. % 509

Question Number : 153 Question Id : 2752288641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Tﬁlov FJAAE dlecHieR H 30 BT URRIY BIdT § 3R (2/n)H BT IR BId1 &, TfS MR 5 Hz § o WIeH &1 39! UfaareT (Srie-) &
0

Options :

1. ¥ V409

2. % 209

3. % 4709

4. % 509

Question Number : 154 Question Id : 2752288642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Which connector includes both data connector and power connector?
Options :

1. ¥ SATA

2. # PEG

3. % PCI

4. % FDD

Question Number : 154 Question Id : 2752288642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

forg Hgex U ST Hracx 3R UlaR FHaex g QM 62
Options :

1. ¥ SATA

2. # PEG

3. % PCI

4. ¥ FDD

Question Number : 155 Question Id : 2752288643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fibre Optic cable is a combination of
Options :

1. % Gold and Copper

2. # Silver and Nichrome

3. % Brass and Copper

4. ¥ Plastic and Glass

Question Number : 155 Question Id : 2752288643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BIeeR HPH had &1 IAIoH g

Options :



1. % 1 3R dfer
2. % Tid} 3R AZHIH
3. % Uiad 3R dfaT
4. ¢ IREH 3R A

Question Number : 156 Question Id : 2752288644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTTP Stands for:

Options :

1. ¥ Hypertext Transfer Protocol

2. % Hyper Text Transfer Programme

3. # Hidden Text Transfer Programme
4. % Hidden Text Testing Programme

Question Number : 156 Question Id : 2752288644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTTP &1 01 YU §:

Options :

1. ¢ BISIRCRC CRIPHR UeIdhid

2. % BIRUR CRC MR U

3. % fge doRe CigwmR Ui

4. % fge9 cRe T UImH

Question Number : 157 Question Id : 2752288645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In common collector configuration, Y Can be written as

Options :
.Y 1+



2. % q
3. % Ba
4, % 1+q

Question Number : 157 Question Id : 2752288645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I S8 =g 1, Y bl & ¥ § forar S gl g |
Options :

1.¥ 1+

2. % q

3. % Bo

4. % 1+a

Question Number : 158 Question Id : 2752288646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In Varactor doide, depletion capacitance is inversely proportional to
Options :

1. # Forward Voltage

2. # Junction Voltage
3. % Breakdown voltage

4. ¥ Width of the space charge region

Question Number : 158 Question Id : 2752288646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

RN A H, 3fger yiiar & P AT BIl B

Options :
1. # 3 fayaidR
2. % SlavH fayaiaR




3. % o favaiaR
4. ¥ TI T 8F B ASTE

Question Number : 159 Question Id : 2752288647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What is the phase difference between the feedback signal and input signal of degenerative feedback?
Options :

1. % 90°

2.9 180°

3. % 0°

4, % 45°

Question Number : 159 Question Id : 2752288647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Wisa® RErd iR smerdt ufaforar & 37qe Rrd & oie aRur Sfak |1 82
Options :

1. % 90°

2.9 180°

3. % (°

4, % 45°

Question Number : 160 Question Id : 2752288648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The range of frequency of very high frequency oscillator [VHF]:
Options :

1. ¥ 30 MHz to 300 MHz

2. % <20KHz

3. ¥ >3 GHz

4. % 300 MHz to 3 GHz



Question Number : 160 Question Id : 2752288648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T I AT QIad B AT B A 6:

Options :

1. ¢ 30 MHz ¥ 300 MHz
2. % <20KHz

3. % >3 GHz

4. % 300 MHz ¥ 3 GHz
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752288649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
For Progressive winding, the back pitch Yb and front pitch Yf are related as:

Options :

1. * Yy, =Y¢+ 1
2.% Yp=Y¢-1
3. Y,=Ys+2
4. % Yb=-Yf+1

Question Number : 161 Question Id : 2752288649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

wifaRiid dead & for, 9 fa vb ok e o v Fafafed wu & Tefid &;
Options :

. * Yy,=Ys+1

2.% Yp=Ye- 1

3. Y, =Ys+2

4. % Yb=-Yf+1

Question Number : 162 Question Id : 2752288650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
As Per ISO earth plate dimensions are

Options :

1. # 40 cm X 30 cm X 3 mm



2. % 20cm x 20 cm X 4 mm
3.% 60 cm x 60 cm % 3.18 mm

4. % 10 cm x 20 cm x 2 mm

Question Number : 162 Question Id : 2752288650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ISO & STER 3 wie far gl
Options :

1. ¥ 40 cm x 30 cm x 3 mm

2. % 20 cm x 20 cm X 4 mm

3. % 60 cm x 60 cm x 3.18 mm

4. % 10 cm x 20 cm x 2 mm

Question Number : 163 Question Id : 2752288651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pole Pitch of a.c Machine is expressed as ratio of
Options :

1. ¥ Number of poles to number of slots

2. % Number of commutator segments to Number of slots
3. #¥ Number of slots to Number of Commutator segments
4. ¥ Number of Slots to the Number of Poles

Question Number : 163 Question Id : 2752288651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ac IR0 & Uit g 1 & IAId & ¥9 H e foar Srat g |
Options :

1. % O i YA W WilC DI G-

2. % PR WSl P TB Y Wic I T=




3. % Wic B A1 W IR WSl P TJ
4.+ I Pt BT Y Yd P =T

Question Number : 164 Question Id : 2752288652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Slot Degree is Expressed as
Options :

1. % [ (pairs of Poles x 360°) / number of Poles ]
2. % [ pairs of Poles / number of Poles ]

3. # [ (pairs of poles x 360° ) / number of Phases ]
4. ® [ pairs of Phases / number of Poles ]

Question Number : 164 Question Id : 2752288652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e fsit &1 & ¥ U H ogad fear Sar g |
Options :

1. ¢ [(UId B SIIST x 360°) / Tl Dt T

2. % [OId &I STel/aid & TS|

3. % (U PISlS! x 3600) / ol B TS

4. % [Tho] DI Sliel/ O &I TB

Question Number : 165 Question Id : 2752288653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A two-wire D.C distributor cable 10 m long is loaded with 0.2 A/meter. Compute the total current supplied by distributor.
Options :

1. # 10A

2. % 5A

3.9 2A



4. % 6A

Question Number : 165 Question Id : 2752288653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T &I-dR PRI (DC) fadR® Haa 10 m T 0.2 A/HIER & 1 UL 83 & | fadRa gR1 3Mgfd &t 718 S YR BT 70T B |
Options :

1. * 10A

2. % 5A

3.¥ 2A

4. % 6A

Question Number : 166 Question Id : 2752288654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The voltage rating of the secondary distribution system is

Options :

1. ¥ 400/230 V
2. % 230/400 V
3. % 33/66 KV
4. % 230/230 V

Question Number : 166 Question Id : 2752288654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fexcltores faraRor yomeht ot fyvaraR X gl
Options :

1. ¥ 400/230 V

2. % 230/400 V

3. % 33/66 KV

4. % 230/230 V



Question Number : 167 Question Id : 2752288655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many junctions are there in a silicon controlled rectifier?
Options :

1. %1

2.% 2

3.% 4

4.9 3

Question Number : 167 Question Id : 2752288655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
RiferepT i fagert # fbam SiaH 8id 82
Options :

1. % 1

2. % 2

3.% 4

4.9 3

Question Number : 168 Question Id : 2752288656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In single phase full wave AC Voltage controller SCR's are connected in

Options :

1. #* series

2. % parallel

3. ¥ anti-parallel

4. # both series and parallel

Question Number : 168 Question Id : 2752288656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

77 et § et da AC favaiar Faae scr's 1 A ST S gl
Options :

1. % goff

2. % gAMIR

3. ¢ JUFIR-AL

4. % QT 9TQT 3R FHMIMR

Question Number : 169 Question Id : 2752288657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Single phase half bridge inverters requires

Options :

1. % two wire AC supply
2. % two wire DC supply
3. # three wire AC supply
4. ¥ three wire DC supply

Question Number : 169 Question Id : 2752288657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R7Te BT g1 A (fareT) $-aex & fore D AAIHT Bl g |
Options :

1. ® QAR AC Y

2. % QAR DC 3ATYfd

3. % A dR AC 3Mgfd

4.« dH9 IR DC 3Yfed

Question Number : 170 Question Id : 2752288658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
A three phase full converter is to supply a purely resistive load of 50 V DC for 0° firing angle. The output voltage for 450° firing angle would be

Options :
1.¥ 0V
2.% 30V
3.% 25V
4. % 45V

Question Number : 170 Question Id : 2752288658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T <t ol QUi URacids 0° TR 107 & g 50 V [AFURT (DC) % ot =0 § UfeRieft 4R & Sy B 8 | 450° BRI HIvT & forg
3M3eye faHaiaR el

Options :

.L¥ 0V

2.% 30V

3.% 25V

4. % 45V

Question Number : 171 Question Id : 2752288659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A chopper operating at 5 KHz, from a 100 V DC source. Calculate the chopping period.
Options :

1. * 5 msec

2. % 0.2 msec

3. * 10 msec

4. % 100 msec

Question Number : 171 Question Id : 2752288659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TH TR 100 V RFYRT (DC) T/ 5 KHz TR HTH B Ig1 8| HIe- B 3afd &1 0T HI |
Options :

1. # 5 msec

2. % (0.2 msec

3. % 10 msec

4. % 100 msec

Question Number : 172 Question Id : 2752288660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following power plant has NOT standby losses?
Options :

1. # Steam Power Plant

2. % Diesel Power Plant

3. % Nuclear Power Plant

4. ¥ Hydro electric Power Plant

Question Number : 172 Question Id : 2752288660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
frofaRad o 9 few ot 9o & ois sifalad afd T8l 82
Options :

1. % YU Holl I

2. % S SHoll YA

3. % AIYSR Sl H

4. ¥ Sdfdegd Sl ¥a

Question Number : 173 Question Id : 2752288661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A light load of 50 KW at p.f 0.1 lagging. Calculate KVA delivered by the load.



Options :

1. # 100 KVA
2. % 500 KVA
3. % 400 KVA
4. % 900 KVA

Question Number : 173 Question Id : 2752288661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

p.£0.1 ARFT TR 50 KW &1 8ebT YR 81 S gRT TAdRd KVA &1 0T B3 |
Options :

1. % 100 KVA

2. % 500 KVA

3. % 400 KVA

4. % 900 KVA

Question Number : 174 Question Id : 2752288662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A consumer has a maximum demand of 200 KW. If the tariff is Rs. 100 per KW of Maximum Demand. Calculate Annual Maximum Charges.
Options :

1. ¥ Rs. 20,000

2. % Rs. 10,000

3. # Rs. 5,000

4. % Rs. 35,000

Question Number : 174 Question Id : 2752288662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP IUHIGT DI IIHaH AT 200 KW g | A SHAGTH AR B a=-Gat 100 T Ufd KW & | e Siferead Yeeb &1 0T H1 |

Options :




1. ¥ 20,000 ¥UQ
2. % 10,000 ®Uq
3. % 5,000 %4V
4. % 35,000 %UQ

Question Number : 175 Question Id : 2752288663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In one pulse rectifier, the ripple frequency can be expressed as

Options :
1.¥f
2. % 2f
3. % 3f
4, % 4f

Question Number : 175 Question Id : 2752288663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I Ue AFCHRR H, T 3Mgf Bt & *U § ogad foraT off T g |
Options :

l.¥ f

2. % 2f

3. % 3f

4, % 4f

Question Number : 176 Question Id : 2752288664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Transformer utilization factor of bridge rectifier is:
Options :

1. % 0.273



2.4 0.8106
3. % 0.672
4. % 0.923

Question Number : 176 Question Id : 2752288664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g (5T) YFHIR H1 SRIHTHR ITART HRS o
Options :

1. # 0.273

2.9 0.8106

3. % 0.672

4. % 0.923

Question Number : 177 Question Id : 2752288665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following device is used in uncontrolled two pulse rectifier?
Options :

1. % BJT

2. % IGBT

3. % SCR

4. ¥ Diode

Question Number : 177 Question Id : 2752288665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FofRed & ¥ 319 91 IuHR0T AT &1 Ued fae R § UaRT b1 S g2
Options :

1. % BJT

2. % IGBT

3. % SCR



4. ¥ SIS

Question Number : 178 Question Id : 2752288666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Drain characteristics of FET gives relation between

Options :

1. % 1G, VDS
2. % 1D, VGS
3. ¥ Ip,Vpg

4. % IS, VGS

Question Number : 178 Question Id : 2752288666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FET &1 S+ fa=wan & o9 Iy <t g |
Options :

1. % 1G, VDS

2. % 1D, VGS

3. ¥ 1p,Vpg

4. % 1S, VGS

Question Number : 179 Question Id : 2752288667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In PNP transistor
Options :

1. ¥ Emitter and Collector are P-type
2. # Emitter and Base are P-type

3. ¥ Emitter and Base are N-type

4. % Base and Collector are P-type



Question Number : 179 Question Id : 2752288667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PNP TifoRex & |

Options :

1. ¢ ITSih 3R GUEH P-UPR &

2. % ISP 3R YR P-UPHR &

3. % ISP 3R YR N-UHR g

4. % YR 3R JUTGH P-UBR &

Question Number : 180 Question Id : 2752288668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following relay can detect faults in the transformer?
Options :

1. ¥ Buchholz Relay

2. ¥ mho Relay

3. % reactance Relay

4. ® impedance Relay

Question Number : 180 Question Id : 2752288668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifed & @ 1 a1 Rel iR & TR &1 a1 o Jebdl 82
Options :

1. ¢ §his Ral

2. % IR

3. % gfdurd Rd

4. % gfaaner e Ra
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Question Number : 181 Question Id : 2752288669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Pick up of the coil can be expressed as:
Options :

1. ® rated secondary current of C.T x Voltage setting



2. # rated secondary current of P.T x Voltage setting
3. # rated secondary current of P.T x Current setting

4. ¥ rated secondary current of C.T X current setting

Question Number : 181 Question Id : 2752288669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Haal P NP 30 B 5T YR sgad fbar S T 32
Options :

1. % C.7 &I Auid Areaffie urT < fquaiar Afd

2. % pT Pl AYIRT ATeaffie uRT < fquaiar AfdT

3. % PT &1 AYRT ATeAH® URT x 4RT Al

4. C.T % YR Areafiies oRT « 4RT AT

Question Number : 182 Question Id : 2752288670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following fault is NOT unsymmetrical fault?
Options :

1. # L-L Fault

2. % L -G Fault

3. ¥ 3-¢ Fault

4. % L -L-G Fault

Question Number : 182 Question Id : 2752288670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fFafafed & 3 1 91 QY S QY 8l 82
Options :

. % L-L3Y

2. % L-GTY



3.9 3.9y

4. % L_.L-G3Y

Question Number : 183 Question Id : 2752288671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Operating time of the circuit breaker:
Options :

1.4 0.1 to0 0.2 sec

2. % <0.002 sec

3. % 50 sec

4. % 1000 sec

Question Number : 183 Question Id : 2752288671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gRuY fa=sadh &1 Hara- Jo:
Options :

1.¥ 019029

2. % <0.002 Jhg

3. % 50qhe

4. % 1000 JHs

Question Number : 184 Question Id : 2752288672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An irrigation pump set of 7.5 KW is to be installed with 3-¢, 415 V supply. Find full load current of motor if n = 85% and p.f = 0.8 lag.
Options :

1. % 20

2.9 1534

3. % 333



4. % 41.2

Question Number : 184 Question Id : 2752288672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3-, 415 V Y[ & 1Y 7.5 KW BT a8 9w e Rifid foan S 81 afE = 85% 3R p.f= 0.8 T &1 al Hex &1 YUl YR YRT J1d B1 |
Options :

1. % 20

2.9 1534

3. % 333

4, % 41.2

Question Number : 185 Question Id : 2752288673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The material used for wiring continuous bar is

Options :

1. # Copper

2. % Brass

3. % Aluminium

4. % Bronze

Question Number : 185 Question Id : 2752288673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HEGI TR $I I & forg Ugad Irht gl
Options :

1. % qia

2. ® Uidd

3. ¥ Tegiafgg

4. % HT



Question Number : 186 Question Id : 2752288674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Luminous efficiency of a fluorescent tube is

Options :

1. # 20-25 lumen / watt
2. % 30-35 lumen / watt
3. # 10-20 lumen / watt
4. ¥ 50-60 lumen / watt

Question Number : 186 Question Id : 2752288674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T Uit e &t e gerar gl
Options :

1. % 20-25 A9 /dlc

2. ¥ 30-35H-T/dic

3. % 10-20 qUA /dlC

4. ¥ 50-60 QB /dlc

Question Number : 187 Question Id : 2752288675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Earthing of equipment is necessary for protection against

Options :

1. # over voltage

2. # over loading

3. % high temperature of conductor

4. ¥ danger of electric shock

Question Number : 187 Question Id : 2752288675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

T QR& & T SUBRUN B YIHH A ¢ |
Options :
1. % 3{fg favaiaR
2. % 3R AIfST
3. % Ieh BT 3 dIHM
4. ¢ TIoTelt & b BT @R

Question Number : 188 Question Id : 2752288676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Calculate the number of poles for 1 km, 11 KV over head line per L.E rule.
Options :

1.¥ 15

2. % 16

3.% 17

4, % 18

Question Number : 188 Question Id : 2752288676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

LE M8 & 3UR, 1 km, 11 KV 3MoR g8 A3 o [olU ¢dl B! TeAT B! TUMT By |
Options :

1.¥ 15

2. % 16

3. % 17

4, % 18

Question Number : 189 Question Id : 2752288677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



In 8051 micro controller, the data pointer register size bit wide.
Options :

1.¥ 16

2. %24

3. %20

4. % 8

Question Number : 189 Question Id : 2752288677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 HTSeh] Peler H, ST UigeR ISR BT 3MHR EEEISIEGI
Options :

1.¥ 16

2. % 24

3. % 20

4, % 8

Question Number : 190 Question Id : 2752288678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In 8051 microcontroller, has parallel I/O ports and serial ports.
Options :

1. % 2;4

2. % 6;4

3.¥°4;2

4. % 2;2

Question Number : 190 Question Id : 2752288678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
8051 AIZIHCIeR H JHMIR 1/0 UIE 3R Hifega o g 3|

Options :



1. % 2.4
2. % 6:4
3.9 4;2
4. % 2:2

Question Number : 191 Question Id : 2752288679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Operating frequency of 8051 micro controller is

Options :

1. ¥ 12 MHz
2. % 24 MHz
3. % 36 MHz
4. % 48 MHz

Question Number : 191 Question Id : 2752288679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 TSI SeleR b TaTe Hgf gl
Options :

1. ¥ 12 MHz

2. % 24 MHz

3. % 36 MHz

4. % 48 MHz

Question Number : 192 Question Id : 2752288680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

How many registers constitute internal RAM of 80517
Options :

1. % 34



2.¥ 32
3. % 42
4. % 44

Question Number : 192 Question Id : 2752288680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

8051 Y 3R XA fare ST BT 6 Hel 82
Options :

1. % 34

2.9 32

3. % 42

4, % 44

Question Number : 193 Question Id : 2752288681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Slip power recovery is employed in for speed control.
Options :

1. ¥ wound rotor induction motors
2. * reluctance motors
3. * universal motors

4. % dc motors

Question Number : 193 Question Id : 2752288681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Tifar e & forg H f&T0 UfeR g0 SreiRa 81
Options :

1. ¥ 48 A R HIY

2. % JaecH Ay



3. % giaqd A
4. % fQFYURT (dc) AR

Question Number : 194 Question Id : 2752288682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Load equalization in the drives can be achieved by using

Options :

1. # pumps

2. ¥ flywheel
3. # dc motors

4. % generators

Question Number : 194 Question Id : 2752288682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g1ed I Ale SHATSOITA &1 IUINT IR YT T o el 3 |
Options :

1. = gy

2. ¢ TfAUTAS <k

3. % fAPYURT (de) HIeR

4. % S

Question Number : 195 Question Id : 2752288683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following condition must be satisfied in regenerative braking to supply the generated electrical energy to the source?
Options :

1. ¥ E >V and Negative [,

2. ® E >V and Positive [,

3. % E <V and Negative I



4. % E <V and Positive I,

Question Number : 195 Question Id : 2752288683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad @ 9 o O 2rd A &1 I faggd Sl &t SMYfd = o forg gafon iR § gt g1 =g

Options :

1. ¥ E>V 3R BUTHS I,
2. % B>V 3R OIS 1,
3. % E<V AR BUTEHS 1,
4. % E <V 3R TS 1,

Question Number : 196 Question Id : 2752288684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
The series motor is operated under dynamic braking at 4 times the rated torque and 600 rpm. Calculate the value of braking current is

Options :

1. # 3 times the rated torque
2. # 4 times the rated torque
3. % 2 times the rated torque

4. # 9 times the rated torque

Question Number : 196 Question Id : 2752288684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

GR¥et Hier ot Fuffed sargot & 4 AT 3R 600 rpm TR TMfdw RIYF & dgd Ieferd foar T g | sfds T die & 7 Pt 0T $1 |
Options :

1. % Fyffed sl &13 T

2. % FYiRa STyl $T4 7T

3. ¢ iR emgol &1 2 T




4. % FAYTRa Sargol &1 9 AT

Question Number : 197 Question Id : 2752288685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Torque of a DC Motor is directly Proportional to
Options :

1. ¥ Field resistance
2. % Product of flux and armature resistance
3. ¥ Armature current

4. % Product of flux and armature current

Question Number : 197 Question Id : 2752288685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fapeRT Hiex o7 aa-imef Ate) & AT g1 8 |
Options :

1. % & ufoRlY

2. % TS (TAS) 3R 3R UfaRIY &1 TS

3. % 3R YRI

4. AT (FART) 3R MR YRT BT IATG

Question Number : 198 Question Id : 2752288686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If the MSCP is equal to 200. Find flux of light source.
Options :

1. % 600n

2. % 100w

3.9 800

4. % 200n



Question Number : 198 Question Id : 2752288686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfe MSCP 200 & SRTER 8 | YT AId BT AHATE (FTaT) J1d B |
Options :

1. % 600 7

2. % 100 1

3. ¥ 800 1

4. % 200

Question Number : 199 Question Id : 2752288687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which type of heating is employed for wood drying and gluing?
Options :

1. ¥ Resistance heating

2. ¥ Dielectric heating

3. # Induction heating

4. % Solar heating

Question Number : 199 Question Id : 2752288687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ADhS! DI U 3R FAUHH & foE vt THR & a9 1 SUTRT foa STt /2
Options :

1. % yfeRY qro=

2. ¢ TRIAGYd o

3. % URUT g4

4. % IR d19




Question Number : 200 Question Id : 2752288688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Schedule speed of train is Expressed as:
Options :

1. ¢ distance + ( time for run + time for stop)
2. % distance + time for stop

3. # distance + time for run

4. % acceleration of train -+ time for stop

Question Number : 200 Question Id : 2752288688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YS! i Frad T ) 59 YR e fhar S @:
Options :

1. ¢ G = (G BT qHY + Fh BT JHY)

2. % G+ Sh B I

3. % gt - Qe BT ey

4. % YS! BT @R = B B THY




